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1. OIIMC HABYAJIBHOI JUCHUILITHA

MeTta

Merta BUBYEHHS 1HO3€MHOI MOBH Yy HEMOBHOMY BY3i —
HiATOTYBaTHU CTYJCHTA J0 YWTAHHS aHTJIOMOBHOI JIiTepaTypH 3a
daxom, CIIJIKyBaHHS aHTJIIHCHKOIO MOBOIO B PI3HHX BHIAX
MOBHOI JISUTBHOCTI, MOXJIMBOCTI BUKOPUCTAaHHS aHTJIHCHKOI
MOBH Y IPAaKTHYHUX IIJISIX.

KomMmrieteHTHICTD

E: 3K4 3patHicTh CHINKYBaTUCS 3 TPEACTABHUKAMHU IHIIHAX
npodeciiiHux Tpym pi3HOro piBHA (3 €KCHepTaMH 3 1HIIUX
rajxy3ei 3HaHb/BUIIB €EKOHOMIYHOI T1sLTBHOCTI)

Bb: K01 mox 1 3naTHICTh 3M1MCHIOBATH YUTAHHS 1 OCMUCIICHHS
npodeciifHO OpIEHTOBAHOI Ta 3araJlbHOHAYKOBOI1 1HIIOMOBHOI
JiTepaTyp, BUKOPUCTAHHS ii y coliadbHIA Ta mpodeciiiniii
cdepax.

Bb:K01 wmox2 3akoHOMIpPHOCTEH aHIIMCHKOI MOBH Y
CITIBCTABJICHHI 11 3 INIOBOIO YKPATHCHKOIO MOBOIO.

Pe3ynbprar
HaBYAHHS

E: PO3 BinbHo cnuikyBaTucs 3 HOpo(deciiHMX Ta HayKOBHUX
MUTaHb JIEPKABHOIO Ta 1HO3EMHOK MOBAMH YCHO 1 MMCHMOBO.
Bb: P0101 3a BupoOHMYMX yMOB, Ha OCHOBI JIEKCHUKO-
rpaMaTU4YHOIO  MIHIMYMY,  KOPHUCTYIOUHUCh  NPOQeciiiHO
Op1EHTOBAaHUMU 1HIIOMOBHUMH (npyxoBaHUMH Ta
€JICKTPOHHUMHM) JDKEpENaMy, 3a JOIMOMOrOK  BIANOBIIHHUX
METOJIB 3JIACHIOBaTH O3HaloOMue, MOUIYKOBE Ta BHBYAIOUe
YUTaHHSI. AHaJIITHYHE ONPAIIOBAHHS IHIIIOMOBHHUX JDKEpENn 3
METOI0 OTpUMaHHs 1H(dopMaIlii, o HEoOXIHA NIl BUPIIICHHS
NMEeBHUX  3aBAaHb  MNpo¢eciiiHO-BUPOOHUUOT  AiISUTBHOCTI;
mpaioBaTd 3 KOHTPAKTaMHU, pejii3aMu Tpo MapTHEPCTBO,
pe3ynbTaTaMu TMaTEeHTHOTO TMOIIYKYy, pPEKIaMOl 3 METOI0
BPETYJIIOBaHHS BUPOOHUYUX IMUTAHD.

Bb: P0102 Bectn Gecimy Ha OCHOBI TUIIOBUX CHUTYAIliil A1JIOBOTO
CHUIKYBAaHHA, y 3B’SI3Ky 3 MNPOYUTAaHUM a00 MPOCITyXaHHM;
pOOUTH TMOBIIOMJIEHHS Ha OCHOBI THUIIOBUX CHUTYAIllil J1JIOBOTO
CHIKYBaHHS, @ TAKOX BUCJIOBIIOBATUCS 3 TPUBOY MPOYUTAHOTO
ab0 MPOCITYyXaHOIr0; CAMOCTIHHO YMUTATH CYCHUIbHO-TIOJNITUYHI,
HAyKOBO-TIOMYJISIPHI TEKCTH, a TaKOX 3a (paxoBy JITEpatypy;
CIpUiiMaTH Ha CIyX Mpu Oe3MmocepelHbOMY CHUIKYBaHHI Ta Y
3BYKO3aIUCy TEKCTU MOOY0BaHI B OCHOBHOMY Ha 3aCBOEHOMY
MOBHOMY Martepiai.

ba3oBi 3HaHHS

3HaTu:
1. I'pamatuyHi npaBuiIa, rpaMaTH4H1 KOHCTPYKIIL JIJIst
YCHOT'O Ta MMUCbMOBOTO MEPEKIIATy AaHTJIOMOBHUX TEKCTIB
Ta BUKJIaay 1HpopMaIlii;
2. JlexkcnuHui MiHIMYM OJMHHUITH 3 TPOTPAMHHUX TEM KYPCY.




ba3oBi BMiHHS

Bwmitu:

1. TIOSICHIOBATH TPaMaTUYHI MpaBUJIa,

2. BITI3HABATH, PO3PI3HATH Ta TMEpeKIagaTH pPi3HOMAaHITHI
rpaMaTU4Hi KOHCTPYKIIIi;

3. PO3yMITH MOHOJIOTIYHI TOBIJJOMJICHHSI 3 3aCTOCYBaHHSIM
MEBHUX TPAMAaTUYHUX KOHCTPYKIIIH;

4. 3aCTOCOBYBATH TpaMaTH4HI MTpaBUJia Ta KOHCTPYKIIiT B

MEPEKJIl TEKCTIB, JIAJOTIYHOMY MOBJICHHI Ta Ha MHCHMI.

ba3oBi HaBUYKH

1. BuKOpHCTOBYBaTH TpaMaTH4Hi TpaBuia IS TMepeKIamxy
TEKCTIB 3 aHTIIMCHKOI MOBH Y MPAKTUYHUX ITIJIAX.

2. BokuBaTH TpamMaTH4YHI KOHCTPYKIi B YCHOMY MOBJICHHI Ta
nepeKasi TeKCTiB 3 MPOrpaMHUX TEM Kypcy.

[ToB’a3amni «IHO3eMHa MOBa 3a MPOoeCIHHUM CIIPSIMYBaHHIMY 2 P.H.
cuiiadbycu

[Tonepenns

IUCHUILIIHA

Hacrtynna

IUCIUILIIHA

Kinekicts rogus | JIekiii (HacTaHOBHI): 2

crerr. 051 MPaKTUYHI 3aHATTS:

«ExoHoMikay, KOHCYJIbTaIIli: 8

207 «Boxaui CEMIHAPChKI 3aHATTS:

Olopecypcu Ta | camocTiiiHa poboTa cryaeHTiB: 290
aKBaKyJIbTypa»

2. MPOT'PAMA HABYAJIbHOI JUCHUILJITHU

2.2. IlpakTiani MOy

KinekicTs rogua

Kon Ha3zBa monyns ta Tem ayuropri | CPC
3M- 27
1 | 1. a) “Ecology”.

b) “Environmental Science”
¢) Grammar: Indefinite Tenses (active and passive)

d) ITepekian CycniIbHO-ITOIITHYHOTO TEKCTY
(2500 mp. 3HaKiB)

2. MonynbpHa KOHTpoJibHA poOoTa Ne 1




3M-
I12

N

a) “Environment”

b) I[Tepexnan cycniIbHO-MOTITUYHOTO TEKCTY
(2500 np. 3HAKIB)

c¢) Grammar: Continuous Tenses (Active and
Passive)

d) [Mepexan Tekcty 3a haxom (8000 ap. 3HAKIB).

MoaynpHa KOHTpOJIbHA poboTa Ne 2

27

3M-
I13

l_\

N

a) Population Ecology.

b) Ilepeknan CycmibHO-MOMITHYHOTO TEKCTY
(2500 ap. 3HAKIB)

c) Grammar: Perfect Tenses (active and passive)

MonynbHa KOHTpoJIbHa po6oTa Ne 3

27

3M-
[14

l_\

N

a) The Habitat.

b) INepeknaa cycniabHO-TOTITUYHOTO TEKCTY
(2500 np. 3HAKIB)

c) Grammar: Perfect Continuous Tenses

d) IMepexmnan Texkcry 3a paxom (8000 map. 3HAKIB).

MopynbHa KOHTpOJIbHA poboTa Ne 4

27

3M-
15

2.

a) The Ecosystem. Famine and Flood.
b) IMepexan Tekcry 3a haxom (8000 ap. 3HAKIB)

c) [lepeknaa CycCniabHO-TIOMITUYHOTO TEKCTY
(2500 mp. 3HaKIB)
d) Grammar: The Infinitive

MonynbpHa KOHTpOIbHA poboTa Ne 5

27




3M-
I16

1. a) Global Warming. Kyoto Revisited.
b) Ilepekian Tekcty 3a paxom (8000 ap. 3HAKIB)
¢) Ilepexnan cycHibHO-TTOITHYHOTO TEKCTY
(2500 mp. 3HAKIB)
d) Grammar: The Gerund

2. MoaynsHa KOHTpoJbHA poboTa Ne 6

27

3M-
17

1. a) Natural Wonders of the World.
b) Ilepexmnan Tekcry 3a paxom (8000 ap. 3HAKIB)
¢) Ilepexnan cycHibHO-TTOITHYHOTO TEKCTY
(2500 mp. 3HAKIB)
d) Grammar: The Participle

2. MoaynbpHa KOHTpoJibHA podoTa Ne 7

27

3M-
I18

1. a) Decision-making on the Solution of Ecological
Problems.

b) Ilepexmnan Tekcry 3a paxom (8000 ap. 3HAKIB)

c) [lepekinan cycniabHO-TIOITUYHOTO TEKCTY
(2500 mp. 3HAKIB)

d) Grammar: The Conditional Sentences

2. MoaynpHa KOHTpOJbHA poboTa Ne 8

27

3M-
I19

1. a) Strategy of National Ecological Policy of
Ukraine Until 2020.

b) Ilepexnan Tekcry 3a paxom (8000 ap. 3HAKIB)

¢) Ilepexnan cycniibHO-MIOITHYHOTO TEKCTY
(2500 mp. 3HAKIB)

d) Grammar: Indirect speech

2. MoaynsHa KOHTpoJibHA poboTa Ne 9

27

3M-
1110

1. a) State ecological monitoring.
b) Ilepexmnan Tekcry 3a paxom (8000 ap. 3HAKIB)
c¢) [lepeknan cycniibHO-MOMITUYHOTO TEKCTY
(2500 mp. 3HaKIB)
d) Grammar: Subjunctive mood. Revision.

2. MoaynpsHa KoHTpoabHa podoTa Ne 10

27




[criut 20

290

Pazowm:

HacranoBHe 3aHATTS — 2 ayTUTOPHI TOJIMHY (32 pO3KJIaZOM HACTAHOBHOT
cecii).
Buxknaoau: Kynenina Onbra FOpiiBHa.

Ha wnacraHoBHOMYy 3aHSTTI CTyJIEHTaM JOBOJSATH 3arajbHUM OTJsA Ta
0COOJIMBOCTI BUBYCHHSI HABUAIBHOI JAUCHUIUTIHM, OTJISA MpOTrpaMu HaBYAIbHOI
OUCHMIUTIHU, B T.4. rpadik ii BUBUEHHS, Mepeiik 0a30BUX 3HaHb Ta BMiHb
(KOMIIETEHTHOCTI), OTJISA] 3aBJaHb HA CAMOCTIIHY poOoTy, Tpadik Ta popmu ix
KOHTPOJII0, (POpMHU CHIIKYBAaHHS 3 BUKJIaJlaueM ITiJ] 4ac CaMOCTIMHOTO BUBUCHHS
JTUCLUIUIIHY, Tpadik OTpUMaHHS 3aBJaHb, BIIOMOCTI PO CUCTEMY AOCTYILY J0O
HAaBYAJIbHO-METOAMYHUX MaTepiaiiB, y TOMY 4YHCII 4Yepe3 perno3uTapiit
€JIEKTPOHHOI HABYAJbHO-METOJMYHOI Ta HAYKOBOiI JIITEpaTypu Ta CUCTEMY
JUCTAHLIMHOTO HABYAaHHS YHIBEPCUTETY TOILIO.

Koncyabranii — 8 ronun:
Buknanau: Kynenina Onbra FOpiiBHa.
JIHi TiokHs: cepena (9.00 — 13.00).
Aynautopis 607 (HJIK Ne2)

SIKIo  pe3yibTaTH ONAaHyBaHHS HABUYAJbHOI JUCHUUIUIIHM  HPOTATOM
CaMOCTIHHOT POOOTH CTYJEHTOM € HE3a/J0BUIbHUMH, BUKIAJau PEKOMEHAYE
TAaKOMY CTYJIEHTY B34TH y4acTh y KOHCYJbTAIIAHIN cecli, ]| Yac SKOi BUKJIa1a4y
MO3K€ TUTaHyBaTH Oy b-51K1 BUAW HAaBYAIbHOI pOOOTH, SIK1 TO3BOJISIOTH CTYJEHTaAM
AKICHIIIE OMaHyBaTU Mareplaj HaBYaJbHOI JUCUUIUIIHU Ta MiJABUILIUTH PIBEHb
CBO€ET NMPAKTUYHOI MIATOTOBKHU 3 II€1 TUCUUIUTIHU. B X cecisix 6epyTh y4acTh
CTYJIEHTH, SIKI HE MalOTh MOXJIMBOCTI CAMOCTIHHO ONaHyBaTH 3aBIaHHSMU Ha
caMOCTiiiHy po0OoTy a0o MawTh OakaHHS BHKOHATH MPAKTUYHY YACTUHY
CaMOCTITHO1 poOOTH M1 KEPIBHULITBOM BHKJIa1aya.

B Zoom ¢opmari (3 momnepeaHiM y3roKEHHSIM 4Yacy 3yCTpidi BUKIagada 31
CTYJEHTAMH.

[Tlin wyac camocTiitHOi pOOOTH CTYIEHT Ma€ MOMJIMBOCTI CIUJIKYBaHHS 3
BUKJIaJaue€M YHIBEPCUTETY, KM BHUKJIAJa€ L0 HAaBYAJIbHY IUCIMIUIIHY, 3a
aomoMoror  3acobiB  enektponHoro (e-mail:  ol.ryd63@gmail.com Ta
MOOUIBLHOTO 3B’s13Ky Ta/abo y cucremi E-naBuanns (http://dpt13s.odeku.edu.ua).

HeyuacTe cTymeHTa y KOHCYNbTAIlilHUX CECIAX HE TMO3HAYAEThCS Ha
OIIIHIOBAaHHI OT0 HABYAJIbHUX JIOCSTHEHb BUKOHAHHS HABYAJILHOTO TIIAHY.



mailto:ol.ryd63@gmail.com

2.3. CamocrTiiina poOoTa CTyZieHTa Ta KOHTPOJIbHI 3aX0/1

Kon
MOTYJIS

3aBganns Ha CPC Ta KOHTpOIBHI 3aX011

KinpkicTh
TOJINH

Crpok
IPOBEICHHS

3M-II1

e [linroToBKa rpamMaTUYHOI TEMU Ta
MiATOTOBKA IOMAITHBOTO YATAHHS

e [linroToBKa 10 BUKOHAHHS MOJYJIHHOI
KOHTpPOJIbHOT po6oTu Ne 1

Koumponwhi 3axoou:

o IlepeBipka MMCEMOBO BUKOHAHUX CIUCKIB
HE3HAHOMMX CIIIB Ta iX MepeKam Iis
YCHOTO TIEPEKIIay TEKCTIB

« [lepeBipka MMCbMOBO BUKOHAHUX
rpaMaTHYHUX BIIpaB

e MoaynbsHa KOHTposibHA poOoTa Ne 1
(000B’s13KOBE)

27

JIUCTOIIang

3M-I12

e [linroTOBKA TpaMaTUYHOI TEMU Ta
MIJITOTOBKA JOMAITHbOI'O YATAHHS

e [linroroBka 10 BUKOHAHHS MOJYJIHHOI
KOHTpPOJIbHOT po6oTu Ne 2

Koumponwhi 3axoou:

« [lepeBipka MMCbMOBO BUKOHAHUX CITUCKIB
HE3HAMOMHUX CIIIB Ta iX MepeKa s
YCHOTO TIEPEKIIaly TEKCTIB

e [IepeBipka MMCbMOBO BUKOHAHUX
rpaMaTUYHUX BIIPaB

e MoaynbHa KOHTpOJIbHA poOoTa Ne 2
(000B’s3K0BE)

27

JINCTONA/I-
IPy/ICHb

3M-I13

e [linroTroBKa rpamMaTU4HOI TEMU Ta
MITOTOBKA IOMAITHHOTO YATAHHS
* [linroTOBKA 1O BUKOHAHHS MOJYJIHHOI
KOHTPOJBHOT poboTu Ne 3
Koumponwni 3axoou:

« [IepeBipka MICHMOBO BUKOHAHUX CITHCKIB
HE3HAMOMHUX CITIB Ta 1X MepeKa s
YCHOTO TMepeKIaay TeKCTIB

o [lepeBipka MICHMOBO BUKOHAHHMX
rpaMaTHYHUX BIIpaB

e MoaynbsHa KOHTpoOJIbHA poOoTa Ne 3
(000B’s3KOBE)

27

rpyAcHb




3M-I14

e [linroTOBKA TpaMaTHUYHOI TEMU Ta
M1rOTOBKA IOMAITHBOTO YATAHHS
* [linroTOBKA 1O BUKOHAHHS MOJTYJIHHOI
KOHTpPOJIbHO1 poboTH Ne 4
Koumponwni 3axoou:

« [lepeBipka MMCHMOBO BUKOHAHUX CITHCKIB
HE3HAMOMHUX CITIB Ta 1X MepeKa sl
YCHOTO TIEPEKJIaTy TEKCTIB

« [lepeBipka NMMCbMOBO BUKOHAHUX
rpaMaTUYHUX BIIpaB

e MoaynbpHa KOHTpoJibHA poboTa Ne 4
(000B’s3K0OBE)

27

Cl4EHb

3M-II5

e [linroTOBKA 10 rPAaMAaTUYHOT TEMHU Ta
M1JITOTOBKA JOMAITHbOI'O YATAHHS

e [linroTOBKA 1O BUKOHAHHS MOAYJIBHOI
KOHTpPOJIbHOT poboTh Ne 5

Koumponwni 3axoou:

« [IepeBipka NMMCbMOBO BUKOHAHUX CITUCKIB
HE3HAHOMUX CJIIB Ta iX MepeKia Jjis
YCHOTO MEPEKIay TEKCTIB

« [lepeBipka MMCbMOBO BUKOHAHUX
rpaMaTUYHUX BIIpaB

e MoaynbsHa KOHTpOJbHA poboTa No 5
(000B’s13K0OBE)

27

ClYEHB-JTFOTHI

3M-I16

e [linroroBKa 10 TpaMaTUYHOI TEMH Ta
MiTOTOBKA IOMAITHBOTO YATAHHS

e [linroroBKa 10 BUKOHAHHS MOJTYJIHHOI
KOHTpPOJIbHOT poboTu Ne 6

Koumponwni 3axoou:

« [IepeBipka MMCHbMOBO BUKOHAHUX CITUCKIB
HE3HAMOMHUX CIIIB Ta IX MepeKaa s
YCHOTO TepeKIaay TeKCTIB

o [IepeBipka MICbMOBO BUKOHAHUX
rpaMaTHYHUX BIIpaB

e MoaynsHa KOHTpOJBHA poboTa No 6
(000B’s13K0OBE)

27

JIFOTUI




3M-I17

e [linroTOBKA /10 rPAaMaTUYHOT TEMHU Ta
MIrOTOBKA IOMAIIHBOTO YATAHHS
* [linroTOBKA 1O BUKOHAHHS MOJTYJIHHOI
KOHTPOJIbHO1 poboTh Ne 7
Koumponwni 3axoou:

« [lepeBipka MMCHMOBO BUKOHAHUX CITHCKIB
HE3HAMOMHUX CITIB Ta 1X MepeKa sl
YCHOTO TIEPEKJIaTy TEKCTIB

« [lepeBipka NMMCbMOBO BUKOHAHUX
rpaMaTUYHUX BIIPaB

e MoaynbsHa KOHTpOJbHA poboTa No 7
(000B’s3K0OBE)

27

Oepe3eHb

3M-I18

e [linroToBKa 10 TpaMaTUYHOI TEMH Ta
MiTOTOBKA IOMAITHBOTO YATAHHS
* [linroTOBKA 1O BUKOHAHHS MOJYJIHHOI
KOHTPOJIbHOIT po6oTu No 8
Koumponwni 3axoou:

« [IepeBipka NMMCbMOBO BUKOHAHUX CITUCKIB
HE3HAHOMUX CJIIB Ta iX MepeKia Jjis
YCHOTO MEePEeKIIaly TEKCTIB

« [lepeBipka MMCbMOBO BUKOHAHUX
rpaMaTUYHUX BIIpaB

e MoaynbsHa KOHTpOJbHA poboTa Ne 8
(000B’s13K0OBE)

27

Oepe3eHb-
KBITE€Hb

3M-I19

e [linroroBKa 10 TpaMaTUIHOT TEMU Ta
MiTOTOBKA IOMAITHBOTO YATAHHS
* [linroTOBKA 7O BUKOHAHHS MOIYIHHOL
KOHTPOJIBHOT po60oTH Ne 9
Koumponwni 3axoou:

« [IepeBipka MMCHbMOBO BUKOHAHUX CITUCKIB
HE3HAMOMHUX CIIIB Ta IX MepeKaa s
YCHOTO TepeKIaay TeKCTIB

o [IepeBipka MICbMOBO BUKOHAHUX
rpaMaTHYHUX BIIpaB
MonynpHa KOHTpOIBHA poboTa Ne 9
(000B’s13K0OBE)

27

KBITEHb

10




3M-
IT10

e [linroroBka 10 TpaMaTU4YHOI TEMH Ta
MIrOTOBKA IOMAIIHBOTO YATAHHS
* [linroTOBKA 1O BUKOHAHHS MOJTYJIHHOI
KOHTPOJIbHOT po6oTu Ne 10
Koumponwni 3axoou:

« [lepeBipka MMCHMOBO BUKOHAHUX CITHCKIB
HE3HAHOMHUX CIIIB Ta iX MepeKian s
YCHOTO TIEPEKJIaTy TEKCTIB

« [lepeBipka NMMCbMOBO BUKOHAHUX
rpaMaTUYHUX BIIpaB
MonynbsHa KOHTpobHA poboTa Ne 10
(000B’s3K0OBE)

27

TpaBeHb

[TinroToBKa /10 iICTIUTY
Konmpononi 3axoou:
e [crinT

20

3aJ11KOBO-
eK3aMeHallHa
cecls

Pazowm:

290

1. MeToanKa OpOBEICHHS Ta OHiHIOBaHHH KOHTPOJIBHOT'O 3aX0oAy AJIsA 3M-II1.

—I11:

MinimManbHUH 00csAT 0a30BUX 3HAHb, III0 HEOOX1JHUM IS 3acBOEHHS 3M

— YUTATH, TIEPEKIIaIaTH Ta IepeKa3yBaTu Tekctu “Ecology”.

— YUTATH, IEPEKIIAJaTH Ta AHOTOBAHO MEepeKa3yBaTh CyCHUIbHO-

HOJITHYHI TEKCTH.

— BH3HAYATHU XApPAKTCPUCTHKH BXHBAHHA Ta IMCPCKIaAy IpaMaTHYHHX
sBuii 3a Temoro Indefinite Tenses (Active and Passive).
— YUTaTH, MEPEeKIaaTh Ta aHOTOBAHO MEPEKa3yBaTH TEKCTH 3a (PaxoBOrO

TCMATHKOIO.

MaxkcumanbHa cyma 6aJjiiB 3a 000B’A3K0Bi 3ax0au KOHTPoJ10 3 3M-I11 — 10
OaJiB:

1 3aBaHHs — 8 OaIiB:

JluB. Tabm. 2.2

a) 2(L+1)

1 — cniucok He3HaMOMMX CJIIB Ta 1X MepeKiIa
1 — nucbMoOBUH TIepeKIIa]l TEKCTY

11




b) 2(1+1)
1 — ciucok He3HAMOMMX CIIIB Ta 1X MepeKia
1 — nmucbMOBHH TIepeKIIa]l TEKCTY

c) 2(1+1)
1 — nmuceMoBHit KoHcTIeKT mTpaBw 3 Temu Indefinite Tenses (Active and Passive)
1 — mucpMOBO BUKOHAHHI TpaMaTH4HI BIIPaBU

d) 2 (1+1)
1 — circok He3HAHOMUX CITiB Ta iX MEepeKIan
1 -- nUCHLMOBHUI MepeKIaa TEKCTY

1 3aBmanHs (8 OamiB) He € 000B’SI3KOBHM.

2 3aBaadHsa — 10 OaiB:

Buxonanns MKP Ne 1

MonaynbHa KOHTponbHAa poboTta ckinamaetbes 3 30 3aBmanb. Kokne
3apaanHs 0,34 6amu. MoayiapHa KOHTPOJIbHA POOOTA BBAKAETHCS 3aPaxOBAHOIO,
SIKIIO HAJaHO MiHIMYM 18 mpaBMIIBHHUX BiJITOBIIEH.

ko 3axonu 000B’A3KOBUX (DOPM KOHTPOJIO BUKOHYIOTHCSI CTYACHTOM
MiCJsl CTPOKIB, BU3HAYEHUX Yy Mporpami HaBYaJIbHOI AMCIMIUIIHM, KUIBKICTh
OayiB, 10 MOXE OTPUMATHU CTYJACHT, HE MOXKe mnepeBuiryBatd 60% Bif
MaKCHUMAaJIbHO MOKJIUBOI JIs 11i€T ()OpMU KOHTPOJTIO.

Maxkcumanbaa cyma 0608’ s13k0Bux 6aniB 3 3M-I11- 10 Ganis.

2 3aBnanns (10 6amiB) € 000B’I3KOBHUM.

2. Metonrka npoBEIEHHS Ta OLIHIOBAHHSA KOHTPOJLHOTO 3axony it 3M-112.

MiHIMaabHUH 00CAT 0a30BUX 3HAHB, IITO0 HEOOX1THHUH JIUIS 3acBOEHHSI 3M
—112:

— YUTATH, TIEPEKIIaaTH Ta epeKkasyBaTu Tekct “Environment”.

— YUTATH, IepeKIalaTd Ta aHOTOBAHO MepeKa3zyBaTH CyCNUIbHO-TIOMITHYHI

TEKCTH.

— BHM3HAYATH XapPAKTEPUCTUKH BKWUBAHHS Ta TEPEKIaay TpaMaTHIHHX

sl 3a Temoro Continuous Tenses (Active and Passive).
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— UUTaTH, ICPCKIaaaT Ta aHOTOBAHO IMCPEKA3yBaTU TCKCTHU 3a (baXOBOI-O
TCMATHKOIO.

MakcumaJjibHa cyma 0aJiiB 3a 000B’A3K0BI 3ax011 KOHTPoJIi0 3 3SM-I12 — 10
0aJiB:

1 3aBnanHs — 8 GaiB:

JuB. Ta6m1. 2.2

a) 2(1+1)
1 — ciucok He3HaMOMMX CIIIB Ta 1X MepeKia
1 — nmucbMOBHI TIepeKIIa]l TEKCTY

b) 2(1+1)
1 — cniucok He3HAMOMMX CIIIB Ta IX MepeKIaj
1 — nucbMOBHIA TepeKIIa TEKCTY

c) 2(1+1)
1 — mucrMOBHIA KOHCIIEKT IpaBmiI 3 TeMu Continuous Tenses (Active and Passive)
1 — nMChbMOBO BUKOHAH1 TpaMaTUYH1 BIIPaBU

d 2@+1)
1 — ciucok He3HAMOMHMX CIIIB Ta 1X MepeKya
1 — muchMOBWHII MepeKIIal TEKCTY

1 3aBganus (8 6aiiB) HE € 000B’I3KOBHM.

2 3aBnanHsa — 10 GaiB:

Buxonanasa MKP Ne 2

MonynsHa KOHTpodbHa poboTa ckiamaetbess 3 30 3aBmanb. KoxxHe
3aBaanHs 0,34 6amu. MonyipHa KOHTPOJIbHA POOOTA BBAKAETHCS 3apax0BAHOIO,
SKIIO HAaJaHO MiHIMYM 18 mpaBMIBHUX BiJMOBIIEH.

ko 3axonu 000B’SI3KOBUX (POPM KOHTPOJIFO BUKOHYIOTHCSI CTYJICHTOM
MICIsl CTPOKIB, BU3HAYEHUX Y MPOTpaMi HABYAIBHO! JUCIUIUIIHHU, KUTBKICTh
OayiB, 10 MOXE€ OTPUMATHU CTYAEHT, HEe MOXe mnepeBuiryBatu 60% BiA
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MaKCHMaJIbHO MOKIIUBOI JIJIs i€l popmMu KOHTPOIIO.
MakcumanbHa cyma 000B’a3k0Bux 0aiiB 3 3M-I12 — 10 Gamnis.

2 3aBnanHsa (10 GaitiB ) € 000B’I3KOBUM.

3. Meroanka mpoBEJIEHHS Ta OIIHIOBAHHSI KOHTPOJILHOTO 3ax0ay it 3M-I13.

MiniMansHUH 00caT 0a30BUX 3HAHB, 1[0 HEOOXITHUM I 3aCBOEHHS 3M
—113:

— YWTaATH, IEPEKJIaIaTH Ta nepekasyBatu TeMy “‘Population ecology”.

— YUTATH, MepeKIaaTH Ta aHOTOBAHO IMepeKa3yBaTH TEKCTH 3a (HaxOBOIO

TEMaTHKOIO.

— YUTaTH, IEPEKIIaJaTH Ta aHOTOBAHO IIEPEKa3yBaTH CYCIIIBHO-TTOJII THYHI

TEKCTH.

— BHM3HAYATH XapaKTCPHUCTUKH BXXWUBAHHS Ta IEPEKIaaAy IpaMaTHYHHX

sBuil 3a Temoro Perfect Tenses (Active and Passive).

MakcumaJjibHa cyma 0aJtiB 3a 000B’13K0Bi 3ax01u KoHTpo.I0 3 3M-II3 — 10
OaJiB:

1 3aBaHHg — 8 OaJIiB:

JluB. Tabm. 2.2

a) 3(15+15)
1,5 — circok He3HAHOMUX CJIiB Ta iX IepeKia
1,5— nuceMoOBUH Nepekias TEKCTY

b) 3(1,5+1)5)
1,5 — circok He3HAHOMUX CJIIB Ta iX MepeKia
1,5 — nuceMOBUIA TepeKIaa TEKCTY

c) 2(1+1)
1 — muceMoBHil KoHCITEKT rpaBui 3 Temu Perfect Tenses (Active and Passive)

1 — MMChMOBO BUKOHAHI TPaMaTUYH1 BIIPaBU

1 3aBnanHs (8 6aniB) HE € 000B’ I3KOBHUM.
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2 3apnanasg — 10 Ganis:

Buxonanusg MKP Ne 3

MonynsHa KOHTpodbHa pobOora ckiamaetbess 3 30 3aBmanb. Kokue
3aBaanHs 0,34 Gamu. MoaynbHa KOHTPOJIbHA pOOOTa BBAKAETHCS 3apax0BAHOIO,
SKIO HAJaHO MiHIMYM 18 mpaBMIIBHHUX BiJIMOBIIEH.

Sxmo 3axonu 000B’SI3KOBUX (POPM KOHTPOJIKO BUKOHYIOTBHCSI CTYJAEHTOM
MIiCJs CTPOKiIB, BU3HAYEHUX Y MIpOrpami HaBYAIBHOI AMCHUHUIUIIHH, KUTbKICTh
OaniB, IO MOXE OTPUMATU CTYIEHT, HE Moxke mepeBuiryBatu 60% Big
MaKCUMaJIbHO MOKJIMBOT 1715 11i€i (hOPMHU KOHTPOJIIO.

MakcumanbHa cyma 000B’sa3koBux 6aiis 3 3M-I13 — 10 Gaunis.

2 3aBnanHs (10 6aniB) € 060B’I3KOBHM.

4. MeToanka OpoBEIECHHS Ta OINHIOBAHHSI KOHTPOJLHOTO 3axoay uit 3M-114.

MiHiMaabHUH 00CAT 0a30BUX 3HAHB, I1T0 HEOOX1THUH JJII 3acBOEHHS 3M
—114:

— YUTATH, IEPEKJIAIaTH Ta epeka3dyBaru Temy “The habitat”.

— YUTATH, MepeKIaaTH Ta aHOTOBAHO MepeKa3yBaTH TEKCTH 3a (HaxOBOIO

TEMATHUKOIO.

— YUTATH, IEPEKIIAAATH Ta AHOTOBAHO NIEPEKA3YBATH CYCIIIbHO-TIOITHYHI

TEKCTH.

— BHM3HAYATH XapPaKTEPUCTUKH BKUBAHHS Ta TEPEKIaay TpaMaTHIHHX

sBui| 3a Temoro Perfect Continuous Tenses (Active and Passive).

MakcumaJjibHa cyma 0aJtiB 3a 000B’13K0Bi 3ax01u KOHTpo.I0 3 3M-I14 — 10
OaJiB:

1 3aBnanns — 8 GaiB:

JluB. Tabm. 2.2
a) 2(1+1)

1 — ciucok He3HAMOMHMX CIIIB Ta 1X MepeKiIan
1 — nucbMoOBUH TIepeKIIa]l TEKCTY
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b) 2(1+1)
1 — ciucok He3HAMOMMX CIIIB Ta 1X MepeKia
1 — nmucbMOBHH TIepeKIIa]l TEKCTY

c) 2(1+1)
1 — muceMoBwmit koHcTiekT nipaBui 3 Temu Perfect Continuous Tenses (Active and
Passive)
1 — mucpMOBO BUKOHAHI TpaMaTH4HI BIIPaBU

d) 2(1+1)
1 — ciucok He3HaMOMMX CIIIB Ta 1X MepeKia
1 — nmucbMOBHH TIepeKIIa]l TEKCTY

1 3aBnanHs (8 6aJiiB) HE € 000B’I3KOBUM.

2 3apaauus — 10 Oais:

Buxonanusa MKP Ne 4

MonynpHa KOHTposibHa pobora ckiamgaerbess 3 30 3aBmanb. Kokne
3aBaanHs 0,34 Ganm. MoaynibHa KOHTPOJIbHA poO0Ta BBAXKAETHCS 3apPax0BaHOIO,
SKIT0 HaAaHO MiHIMyM 18 npaBUIIbHUX BIATOBIICH.

Sxmo 3axonu 000B’SI3KOBUX (POPM KOHTPOJIFO BUKOHYIOTHCSI CTYJACHTOM
micJsl CTPOKIB, BU3HAYEHUX Y Mporpami HaBUYaJIbHOI AMCIHUIUIIHH, KIJIBKICTh
OayiB, M0 MOXE€ OTPUMATH CTYACHT, HEe Moxe mnepesuiryBatu 60% Bif
MaKCHUMAaJIbHO MOYKJIUBOI JJIs1 111€1 OPMH KOHTPOJIIO.

MaxkcumaibHa cyma 000B’sa3koBux 6ainis 3 3M-I14 — 10 Garis.

2 3apaanHs (10 GaniB) € 000B’I3KOBUM.

5. MeToanka nmpoBeJIEHHS Ta OIIHIOBAHHSA KOHTPOJLHOTO0 3axoay it 3M-T15.

MiHiMaJIbHAM 00cAT 0a30BUX 3HAHb, I1T0 HEOOX1AHMH 11 3acBoeHHS 3M — I15:

— 4YWTaTH, TIepeKiIalaTH Ta epekasyBaT Tekctu “The Ecosystem”, “Famine
and Flood”;
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— BH3HAYUTHU XaPAKTEPUCTUKH B)KMBAHHA Ta MEPEKIIady IpaMaTHYHUX
siBuII 32 TeMoro «IHdixiTUBY (The Infinitive);

— HaBUYUTHUCS YTBOPIOBATH Ta BXKUBATH P13HI rpaMaTuyHi GopMu
1H(}1HITUBA;

— YHTaTH, EPEeKIIaJIaTi Ta aHOTOBAHO MEePeKa3yBaTh TEKCTHU 3a (GaxoBOIO
TEMaTUKOIO.

MaxkcumanbHa cyma 6aJjiiB 3a 000B’A3K0BiI 3ax0au KOHTPoJ10 3 3M-II5 — 10
0auiB:

1 3aBHaHHsg — 8 OaiB:

JuB. Tabm1. 2.2

a) 2(1+1)
0,5 — ciucok He3HAMOMHMX CIIIB Ta 1X MepeKiIal
0,5 — mucbMOBHI TIepeKIIal TEKCTY

b) 2(1+1)
1 — cnircok He3HAHOMUX CIIIB Ta iX Mepexia
1 — nucbMOBUH TIepeKIIa]l TEKCTY

c) 2(1+1)
1 — cniucok He3HAMOMMX CJIIB Ta 1X MepeKiaj
1 — nmuceMOBE BUKOHaHE Summary

d 2(1+1)
1 — nMChMOBHIT KOHCIIEKT MpaBmJi 3a TeMoro The Infinitive
1 — nMChbMOBO BUKOHAHHI rpaMaTH4Hi BripaBu 3a TeMoro The Infinitive

1 3aBnanus (8 6astiB) HE € 000B’I3KOBUM.

2 3aBaannsg — 10 OaisB:

Bukonanuss MKP Ne 5
MopynbHa KOHTpoOJIbHa poOoTa ckiagaetbes 3 30 3aBmanb. KoxkHe

3aBaanHs 0,34 6anu. MoyabHa KOHTPOJIbHA pOO0Ta BBAXKAETHCS 3apax0BaHOIO,
SKIIO HaJaHO MiHIMYM 18 mpaBUIIbHUX BIATOBIJIEH.
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Sxio 3axonu 000B’SI3KOBUX (OPM KOHTPOIKO BUKOHYIOTHCS CTYACHTOM

MiCIs CTPOKIB, BU3HAUCHUX Yy Mporpami HaBYAIbHOI JUCIUIUIIHM, KUIBKICTh
OayiB, 10 MOXE OTPUMATH CTYACHT, He Moxke mnepeBuiryBatu 60% Bif
MaKCHMaJIbHO MOKIIUBOI JJIs i€l popMu KOHTPOIIO.

MaxkcumanbHa cyma 060B’s3koBux 6aiis 3 3M-II5 — 10 6anis.

2 3aBnanHs (10 6amiB) € 000B’I3KOBHM.

6. MeTtoarka IpOBEICHHS Ta OHiHIOBaHHH KOHTPOJIBHOI'O 3aX0o4y AJIA 3M-II6.

MiHIMaJIbHUM 00CcIT 0a30BUX 3HAHb, 110 HEOOX1aAHMH U 3acBocHHS 3M — I16:

YHUTATH, IEpEeKIaaaTu Ta nepekasysaru texctu “Global Warming”, “Kyoto
Revisited”;

BU3HAYATH XapaKTEPUCTUKU BXKUBAHHS Ta MEPEKIIaay rpaMaTHIHUX
siBu1 3a TeMoro «Iepynmiin» (The Gerund);

HABYUTHUCS YTBOPIOBATH Ta BXXUBATHU Pi3HI IpaMaTUuHI (POpPMU TepyHIIs;
YUTATH, IEPEKIIAaTH Ta aHOTOBAHO MEPEeKa3yBaTH TEKCTHU 3a (HaxOBOIO
TEMaTHKOIO.

MakcumaJjibHa cyma 6aJiiB 3a 000B’A3K0Bi 3ax01u kKoHTPoIi0 3 3SM-I16 — 10
0aJiB:

1 3aBanHsg — 8 OaiB:

JluB. Tabm. 2.2

a) 2(1+1)

1 — ciucok He3HAMOMHMX CIIIB Ta 1X MepeKia
1 — mnucbMOBHMIA TEpEKIIa] TEKCTY

b) 2(1+1)

1 — cniucok He3HaMOMMX CJIIB Ta 1X MepeKia
1 — nmucbMOBUH TIepeKIIa]l TEKCTY

) 2(1+1)

1 — ciucok He3HAMOMHMX CIIIB Ta 1X IMepeKiIan
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1 — nucbMOBUI TepeKIIa] TEKCTY

d 2(1+1)
1 — mUCHMOBHIT KOHCIIEKT ITpaBmI 3a Temoro The Gerund
1 — mMchbMOBO BUKOHAHHI TpaMaTH4HI BIIpaBu 3a TeMoro The Gerund

1 3aBmanHs (8 0aliB) HE € 000B’I3KOBHM.

2 3aBaanus — 10 Oais:

Buxonanus MKP Ne 6

MonynpHa KOHTposdbHa pobOora ckiagaerbess 3 30 3aBmanb. Koxne
3aBaanHs 0,34 6anu. MonysibHa KOHTPOJIbHA POOOTAa BBAXKAETHCS 3apax0BaHOIO,
SKITO HaJaHO MiHIMYM 18 npaBUIIbHUX BIATOBIICH.

SIko 3axonu 000B’A3KOBUX (POPM KOHTPOJIIO BUKOHYIOTHCSI CTYACHTOM
MICIs CTPOKIB, BU3HAYEHUX Y MPOTrpaMl HABYAIBHOI JUCHUIUIIHHU, KUIBKICTh
OayiB, M0 MOXE€ OTPUMATH CTYACHT, HEe Moxe mnepesuinyBatu 60% Bif
MaKCUMaJIbHO MOXJIMBOI JIJIs €T (POPMHU KOHTPOJIIO.

MakcumanbHa cymMa 000B’a3k0BUX O0amiB 3a 3M- I16— 10 Gais.

2 3aBnanHsa (10 6ainiB) € 060B’A3KOBUM.

7. MeToavka poBEIEHHS Ta OIIHIOBAHHS KOHTPOJIBHOTO 3axoay it 3M-IT17.

MiHIMaJabHUN 00caT 0a30BUX 3HAHD, 110 HEOOX1AHM 11 3acBocHHS 3M — I17:

— 4WTaTH, nepekiaaatyu Ta nepekadysaru tekctu “Natural Wonders of the
World”;

— BH3HAYaTH XapaKTCPUCTUKH BXKUBAHHS Ta MEPEKIIay rpaMaTHYHHUX SBHUIILL
3a temoro Participle | Ta Participle I1;

— HaABYMTHUCS YTBOPIOBATH Ta BxkHMBATH pi3Hi hpopmu Participle I ta II;

— YWMTaTH, IEPEKIaJaTH Ta aHOTOBAHO MTEPEeKa3yBaTH TEKCTHU 3a (haxOBOIO
TEMaTHKOIO.

MaxkcumanbHa cyma 6aJjiiB 3a 000B’A3K0BiI 3ax0au KOHTpoJ10 3 3M-I17 — 10
OauiB:

1 3aBanHg — 8 OaJIiB:

JluB. Tabm. 2.2
19



a) 2(1+1)
1 — ciucok He3HAMOMHMX CIIIB Ta 1X MepeKia
1 — nmucbMoOBHH TIepeKIIal TEKCTY

b) 2(1+1)
1 — criucok He3HAMOMUX CIIIB Ta IX MEpeKIa
1 — nucebMOBUI TIEpEKIA TEKCTY

c) 2(1+1)
1 — ciucok He3HaMOMMX CIIIB Ta 1X MepeKia
1 — nmucbMoOBHI TIEpeKIIa] TEKCTY

d 2(1+1)
1 — nMChbMOBHIT KOHCIIEKT MpaBmJiI 3a TeMoto The Participle
1 — mMchbMOBO BUKOHAHHI I'paMaTH4HI BIIpaBu 3a TeMoro The Participle

1 3aBganHs (8 O0amB) HE € 000B’I3KOBUM.

2 3apaauus — 10 Oais:

Buxonannss MKP Ne 7

MonynpHa KOHTposibHa pobora ckiamgaetbess 3 30 3aBmanb. Koskne
3aBaanHs 0,34 6amiB. MoayiibHa KOHTPOJIbHA pOOOTa BBAXKAETHCS 3apPax0BAHOIO,
SKIT0 HaAaHO MiHIMyM 18 npaBUIIbHUX BIATOBIICH.

ko 3axonu 000B’SI3KOBUX (POPM KOHTPOJIFO BUKOHYIOTHCSI CTYAEHTOM
MICIsl CTPOKIB, BU3HAYEHUX Yy MPOTrpaMi HABYAJIbHOI JUCHUIUIIHHU, KUIBKICTh
OayiB, M0 MOXE€ OTPUMATH CTYACHT, He Moxe mnepesuiryBatu 60% Bif
MaKCHUMAaJIbHO MOKJIUBOI JJ1s1 111€1 OPMH KOHTPOJIIO.

MaxkcumaibHa cyma 000B’sa3koBux 6ainis 3 3M-II7 — 10 6anis.

2 3aBnanns (10 6amiB) € 000B’I3KOBHM.
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8. MeTtoarka IpOBEICHHS Ta OHiHIOBaHH}I KOHTPOJIBHOTI'O 3aX04y JJIA 3M-II8.

MiHIMaJabHUM 00cAT 0a30BUX 3HAHD, 110 HEOOX1AHMH U1 3acBoeHHS 3M — I18:

— 9YHTaTH, MEPeKIaaTu Ta nepekasyBatu tekctu “Decision-making on the
Solution of Ecological Problems”;

— BH3HAYATH XapaKTEPUCTUKH BXKUBAHHS Ta MEPEKIaay TpaMaTHIHUX
sBuin 3a Temoro Conditional Sentences (Type O, I, 11, 11);

— HaBUMTHCS yTBOproBaTH Ta BxuBaTh Conditional Sentences (Type 0, I,
I, 11).

— YWTaTH, IEPEKIaIaTh Ta aHOTOBAHO MIEPEKa3yBaTH TEKCTH 3a (HaxOBOIO
TEMAaTHUKOIO.

MaxkcumanbHa cyma 6aJjiiB 3a 000B’A3K0BiI 3ax01u KOHTPo.J10 3 3M-II8 — 10
OauiB:

1 3aB1aHHSI — & OAJIIB:

JluB. Tabm. 2.2

a) 2(1+1)
1 — cniucok He3HaMOMMX CJIIB Ta IX MepeKIaj
1 — nucbMOBU TIEpeKNaa TEKCTY

b) 2(1+1)
1 — ciucok He3HAMOMHMX CIIIB Ta iX MepeKiIaa
0,5 — muceMoOBe BUKOHaHE Summary
0,5 — ycue Summary

c) 2(1+1)
1 — ciucok He3HAMOMHMX CIIIB Ta 1X MepeKia
1 — nucbMOBU TIEpeKIa TEKCTY

d 2(1+1)
1 — nMchbMOBHIA KOHCIICKT mpaBuiI 3a Temoro Conditional Sentences (Type O, I, 11,

1)

1 — mMcHrMOBO BHKOHAHHI IpamMaTW4Hi BIpaBu 3a TeMoro Conditional Sentences

(Type O, I, 11, 111)
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1 3aBmanHns (8 6amiB) He € 000B’I3KOBUM.

2 3aBaanng — 10 Oais:

Buxonanus MKP Ne 8

MonynsHa KOHTpOJbHa pobOoTa ckimamaeTbess 3 30 3aBmanb. KokHe
3aBaanHs 0,34 6aniB. MoaysibHa KOHTPOJIbHA poO0Ta BBAXKAETHCS 3apaX0BaHOIO,
SKIT0 HaAaHO MIHIMYM 18 mpaBUIIbHUX BIATOBIICH.

Sxmo 3axonu 000B’SI3KOBUX (POPM KOHTPOJIFO BUKOHYIOTHCSI CTYICHTOM
MicJsl CTPOKIB, BU3HAYEHUX Y MpOorpamMi HaBUAIbHOI JUCIHUIUIIHHU, KUIBKICTh
OayiB, 10 MOXE OTPUMATHU CTYJACHT, HE MOXKe mnepeBuiryBatd 60% Bif
MaKCHUMAaJIbHO MOKJIUBOI JUIs 11i€1 ()OPMU KOHTPOJTIO.

MaxkcumaipHa cyma 000B’sa3koBux 6aiis 3 3M-II8 — 10 Ganis.

2 3aBaanHs (10 6amiB) € 000B’I3KOBUM.

9. MeToarKa IIPOBEAECHHS TAa OIIHIOBAHHSI KOHTPOJBHOTO0 3axoay it 3M-119.

MiHIMaJabHUN 00caT 0a30BUX 3HAHD, 110 HEOOX1AHMH 11 3acBocHHS 3M — I19:

— 4YWTaTH, TepeKialaTh Ta TepekasyBath Tekctu “Strategy of national
ecological policy of Ukraine until 20207;

— BH3HAYATH XaPaKTEPUCTUKKM B)KUBAHHS Ta MEepeKiIaay IpaMaTHUIHUX
sBuil 3a Temoro Indirect Speech;

— HaABYMTHUCS yTBOpIoBaTH Ta BxuBatu Indirect Speech.

— YWTAaTH, IEPEKJIAJTaTH Ta aHOTOBAHO MEPEKa3yBaTH TEKCTH 3a (DaXOBOIO
TEMAaTHKO¥O.

MakcumanbHa cyma 0aJjiiB 3a 000B’A3K0BiI 3ax0au KOHTpOoJ 10 3 3M-I19 — 10
0aJiB:

1 3aBaHHS — 8 OAJIIB:

JluB. Tabm. 2.2
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a) 2(1+1)
1 — ciucok He3HAMOMMX CIIIB Ta 1X MepeKia
1 — nmucbMOBHH TIepeKIIa]l TEKCTY

b) 2(1+1)
1 — criucok He3HAMOMUX CIIIB Ta IX MEpeKIa
1 — nucebMOBUI NIEpeKNaa TEKCTY

c) 2(1+1)
1 — ciucok He3HaMOMMX CIIIB Ta 1X MepeKia
1 — nmucbMOBHH TIepeKIIa]l TEKCTY

d 2(1+1)
1 — nmrcpMOBHIT KOHCTIEKT IpaBmiI 3a TeMoro Indirect Speech
1 — mMchbMOBO BUKOHAHI rpaMaTH4Hi BpaBu 3a Temoro Indirect Speech

1 3aBganus (8 6aiiB) HE € 000B’I3KOBHM.

2 3aBnanag — 10 Oais:

Buxonanusg MKP Ne 9

MonynpHa KOHTpOdbHa pobOoTa ckiamaerbess 3 30 3aBmanb. KokHe
3apaanHs 0,34 6amiB. MoayibHa KOHTPOJIbHA pOOOTa BBAXKAETHCS 3apax0BaHOIO,

SIKIIO HAJaHO MiHIMYM 18 mpaBMIIBHHUX BiJITOBIIEH.

SAxkiio 3axonu 000B’A3KOBUX (HOPM KOHTPOJIO BUKOHYIOTHCSI CTYACHTOM
MICIs CTPOKIB, BU3HAYEHUX Y MPOTrpaMl HABYAIBHOI JUCHUIUIIHHU, KUIBKICTh
OayiB, M0 MOXE€ OTPUMATHU CTYAEHT, HE MOXe mnepeBuiryBatu 60% Bif

MaKCHMAaJIbHO MOYKJIUBOI JJIs 111€1 OpMH KOHTPOJIIO.

MaxkcumaibHa cyma 000B’a3koBux 6aiis 3 3M-I19 — 10 6anis.

2 3aBnanns (10 6amiB) € 000B’I3KOBHM.
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10. MeToanka nmpoBEJIEHHS Ta OIIHIOBAHHS KOHTPOJHHOTO 3axony it 3M-1110.

MiHIMaJIbHUM 00cAT 0a30BUX 3HAHD, 1110 HEOOX1AHMH 11 3acBoeHHS 3M — I110:

— 4YWTaTH, TEpeKIajaTd Ta TmepekadyBatu Ttekctu “State ecological
monitoring”;

— BUW3HAYaTH XapaKTCPHUCTHUKH B)KMBAHHS Ta MEPEKIay TpaMaTHIHUX
sIBMIIL 32 TeMOro Subjunctive Mood. Revision;

— HaBYUTHCS YTBOpPIOBaTH Ta BxkuBaTu Subjunctive Mood. Revision;

— YUTaTH, IEPEKJIaaTH Ta aHOTOBAHO MEPEeKa3yBaTH TEKCTH 3a (PaxoBOIO
TEMATHKOIO.

MaxkcumanbHa cyma 6aJjiiB 3a 000B’s13k0Bi 3ax01u kKoHTpoJ0 3 3M-I110 — 10
OauiB:

1 3aB1aHHSI — & OAJIIB:

JluB. Tabm. 2.2

a) 2(1+1)
1 — cniucok He3HAMOMUX CIIIB Ta iX MepeKiIaa
1 — nucbMOBUI IEpeKNaa TEKCTY

b) 2(1+1)
1 — ciucok He3HAMOMHMX CIIIB Ta 1X MepeKia
1 — nruchbMOBHI TIEpEKIIa/l TEKCTY

c) 2(1+1)
1 — ciucok He3HAMOMHMX CIIIB Ta 1X MepeKia
1 — nuchbMOBHI IEpEKIIa]l TEKCTY

d 2@1+1)
1 — nmuchMOBUIT KOHCTIEKT MpaBwI 3a TeMoro Subjunctive Mood. Revision
1 — nmuchMOBO BHMKOHAaHHI IpaMaTHuHI BIpaBu 3a Temoro Subjunctive Mood.
Revision

1 3aBmanus (8 6asiB) He € 000B’I3KOBUM.
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2 3aBaauag — 10 OamisB:

Buxonanusg MKP Ne 10

MonynsHa KOHTpOJbHa pobOoTa ckiamaerbess 3 30 3aBmanb. KokHe
3aBaanHs 0,34 6amiB. MoayibHa KOHTPOJIbHA pOOOTa BBAKAETHCS 3apax0BaHOIO,
SKIIO HAJaHO MiHIMYM 18 mpaBMIIBHHUX BiJIOBIIEH.

SIkmio 3axoam 000B’SI3KOBUX (POPM KOHTPOJIIO BUKOHYIOTHCSI CTYIEHTOM
MIiCs CTPOKiIB, BU3HAUEHUX Y TpOrpaMi HAaBYAIBHO! AMCHUMILUIIHH, KUIBKICTh
0aniB, MO MOXE OTPUMATHU CTYIEHT, HE MOke mepeBuiryBatu 60% Bif
MaKCHMaJIbHO MOKIIUBOI JJIs i€l popMu KOHTPOIIO.

MakcumanbHa cyma 0060B’ss3koBux 6aiis 3 3M-I110 — 10 6autis.

2 3aBnanHs (10 6aniB) € 000B’I3KOBHM.

4, MeToaMKa MPOBEIEHHS TA OLiHIOBAHHS NIJICYMKOBOI'0 KOHTPOJbLHOI'0O
3axojay.

KonTponb mOTOYHMX 3HAaHb BHUKOHYEThCS Ha 0a3l HAKOMMYYBaJIbHOT
CHUCTEMHM OpraHizallii HaB4YaHHSI.

dakTthyHa cyma OaiiB, SIKy OTPUMYE CTYJCHT 3a TMEBHUN 3MICTOBHHIA
MOJIyJIb, MA€ CKJIAJIATUCA 13 pe3yJbTaTiB BUKOHAHHS 3aXOJiB 3 KOHTPOJIO, IO
3aljiaHOBaHl 3a IMM 3MICTOBHUM MOJYJIEeM, Ta YpaxOBYBaTU CBO€YACHICTh
(HampuKIaa: CTYACHT, SIKMA OTpUMaB HE3aJIOBUIBHY OIIHKY, Ma€ TMPaBoO y
THKHEBUM TEPMIH BUKOHATH 3aBJIaHHS LIOTO 3aX0Jly 3 MaKCUMAaJbHOI CYMOIO
OaJliB, €KBIBAJICHTHOIO OIHII HEe OUIbHINA HIX '"3aJ0BUIbHO") BUKOHAHHS
CTYJIEHTOM Tpadiky HABYAJIILHOTO MPOLIECY.

CymMmu 6aniB, sIKi OTpUMaB CTYJIEHT 3a BCiMa 3MICTOBHUMH MOJYJIIMHU HaB-
YaJbHOI JUCUUIUIIHU, (OPMYIOTh KIJIBKICHY OLIHKY (0ayi ycmilmHocTi) 3a
MiICYMKaMH TOTOYHUX KOHTPOJIOIOYMX 3aXOJiB CTyAE€HTa 3 HaBYAJIbHOI
IUCIMIUTIHU. Pe3ynbpTaTé MOTOYHOTO KOHTPOIIIO 3aHOCATHCS O IHTErpaibHOI
BiloMOCTi. PilleHHS Mpo JOMycK CTyAeHTa 10 IMiJICYMKOBOI'O KOHTPOJIIO 3
KOHKPETHOI HABYAJIbHOT JUCIUIUTIH pPErIaMeHTyeThcsl [lonoxeHHsIM mpo
MIPOBEJICHHS MM1JICYMKOBOTO KOHTPOJTIO 3HAHb CTYJICHTIB.

CTyaeHT BBaXXA€ThCs JOMYIIEHUM JI0 MIJICYMKOBOTO KOHTPOJIIO (ICTIUTY),
SAKIIO BiH BHKOHAB BCi BWaAM poOiT, mepemdaydeHi poOOUYOI0 HaBUYAIHLHOIO
MIPOTPaMor0 JUCIUIUIIHU 1 HaOpaB 3a MOJYJBHOIO CHCTEMOIO CyMmMy OaiiB He
meHnie 50 (50%) Big MakcuMaibHO MOXKIIUBOT (000B’si3k0Ba yactuHa 100 GaniB)
3a MPaKTUYHY YaCTHUHY.

25



[1icyMKOBUM KOHTPOJIEM 3HAHB CTYJICHTIB € ICIHUT.

Ex3amenariilina poOoTa CKJIaIa€Thes 3 4 3aBJIaHb. | 3aBJaHHS OIIHIOETHCS
B 50 GaxiB, 2 3aBgaHHg B 20 0aiis, 3 3asmanus B 10 6aniB 14 3aBnanns B 20 OaiB.
Ex3amenariiina po0oTa BBa)Ka€ThCS 3apaxOBaHOI, SKIIO CTYACHT HaOpaB
MiHiMyM 60 OaiB.

. 5 5 ®opma Ne H-5.05
OJECBKHU NEP)KABHWIM EKOJIOI'TYHWIM YHIBEPCUTET

(HOBHC HaﬁMeHyBaHHﬂ BHIIOI'O0 HABYAJIBHOTO 3al<na11y)

PiBens BuIoi ocBiTH: Marictp

CrenianbHicTs: 207 «BoaHi 0iopecypcu Ta aKBaKYJILTYPAY,

051 «Exonomikay Cemectp |

Hapuanpua nucrnmurina: IHo3eMHa MoBa 3a IpodeCiiiHUM CIIPSIMYBAHHIM

EK3AMEHAIIMHUMA BJIET Ne 1

1. Grammar Test 50 6.
2. Translate the text and put 5 questiontoit. ... 20 6.
3. a)Translate the text and entitleit ... 10 6.
b) Give a brief summary of the text (not more than 3 sentences)
4. Write about “My scientific interests” ... 20 6.
3aTBepHKEHO Ha 3acianHi Kadeapu iIHO3EMHIX MOB
[Iporokon Ne  Bim*“ __” 202 poky
3asinyBa4 kadgenpu, rojioBa HUKJI0BOI KOMICII
(migmic) (mpi3BuIIe Ta iHiI{iamm)
Ex3amenartop
(rrimmuc) (pi3BHIIe Ta iHimiamM)

3aranpHa KiJIbKICHA OIlIHKA € YCEepPeIHEHOK MK KUIbKICHOIO OI[IHKOIO
MOTOYHUX KOHTPOJIOIUHX 3ax0/11B (Tpada 3 BiIOMOCTI) Ta KUTbKICHOIO OI[IHKOIO
CEMECTPOBOT0 KOHTPOJIOI0UOTO 3ax0ay (Tpada 4 BioMOCTI) 1 BUCTABISETHCA Y
rpadi 5 3ay1iKOBO-eK3aMEeHaIliiH1 BIJOMOCTI (3arajabHuil 6a yCHilIHOCT1).

Axio CTyneHT 3a MiACyMKaMH ICIIHUTY OTPHUMAaB 3arajibHy KUIBKICHY
otiHKy MeHmie 50% (B MakCUMaIbHO MOXKJIUBOI HA €K3aMEH1), TO BUKJIaJauyeM

BUCTABIIAETbCS Y rpadi 5 3aranbHUil Oall YCHINTHOCTI, SIKUWA JOPIBHIOE 0asy
ycnimHocTi Ha icnuTi (rpada 4).
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IIkana ouinroBanus 3a cucteMor0 EKTAC Ta cucTteM010 yHiBepCcUTeTYy

34 WKATOM0 3a HaIliOHATFHOIO CHCTEMOIO 3a.CI/ICTeMOIO
ECTS YHIBEpCHUTETY
TUTSL ICTTUTY JUIST 3aJTIKY (B mporeHTax)

A 5 (BiAMIHHO) 3apaxoBaHO 90 - 100

B 4 (mobpe) 3apaxoBaHO 82 -89

C 4 (mobpe) 3apaxoBaHO 74 -81

D 3 (3a10BIJIBHO) 3apaxoBaHO 64 -73

E 3 (3a10BIJIBHO) 3apaxoBaHO 60 - 63

FX 2 (He3a10BUTBHO) HE 3apaxoBaHO 35-59

F 2 (He3a10BUTBHO) HE 3apaxoBaHO 1-34

3. PEKOMEHJAIIT 1O CAMOCTIHHOI POBOTHU CTYJEHTIB

3.1.  Mooynv 3M-II1 “Ecology”, “Environmental science”; I pynu uacie
Indefinite (Present, Past i Future) 6 akmusHomy i NaCUBHOM) CMAHAX, NePeKaIao
CYCRIIbHO-NOJIMUYHO20 MEKCHY 3 AHRNIIUCHKOL HA YKPAIHCHK)Y MO8).
Jliteparypa: [1, c. 9 -15], [2, c. 20-24], [6, c. 10-23]

3.1.1. [loByanHus

a) Text A. “Ecology”

. [IpounTaTi TEKCT aHIMIICHKOIO MOBOIO.

. Bunucatu 3 TeKCTy HOBI CJIOBa Ta 3pOOUTH iX MEPEKIIA/I.

. YCHO mepeKIIacTy TEKCT 3 aHTJINChKOI Ha YKPaiHChKY MOBY.
. [lepexazatu TEKCT.

B~ W N =

b) Text B. “Environmental Science”.

. [IpounTaTé TEKCT aHTIIIMCHKOIO MOBOIO.

. Buncatu 3 TekcTy HOBI ClloBa Ta 3p0OUTH iX MEPEKIIa/l.

. YCHO mepeKIIacTu TEKCT 3 aHTIHChKOI Ha yKPaiHChKY MOBY.
. [lepekazatu TekcCT.

A W N —

¢) Grammar:
['pynu yacis Indefinite (Present, Past i Future) B akTHBHOMY 1 HACUBHOMY
cTaHax

1. 3poOuTH KOHCIIEKT IPAaBUJI YTBOPSHHS Ta BX)KMBaHHs Tpymnu yaci Indefinite
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(Present, Past, Future) B Active and Passive Voice.
2. BukoHaTtu TpeHyBaJbHI rpaMaTU4HI BIIPABHU.

d) HdomarHe ynTaHHs (EPEKIa] CYCIIbHO-TOIITHYHOIO TEKCTY)

1. CamocTiitHO 00paTy TEKCT 3 aHTIIOMOBHOI razetu (2500 mp.3HaKIB)
2. Bunncatu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH iX MEpEKIa.

3. YCHO mepeKs1acTu TEKCT 3 aHTJIIIChKOI Ha YKPaiHCHKY MOBY.

4. TTucpmoBe Summary.

5. Ycue Summary

3.1.2. IlutanHs 1J1s1 caMOIIepeBIpKU

What is ecology?

What factors does the organism environment include?

How did Ernst Haeckel define ecology in 18667

Who wrote the first university course on the subject?

How is ecology usually considered?

What disciplines does ecology comprise?

What whole-world problems require attention nowadays?

What groups of organisms plant (bird, plankton) populations comprise?
. What is the parallel form for “ecosystem” in Ukrainian literature?
10 What can you tell about environmental problems in Ukraine?
11.What do you know a about environmental crisis in the world?

CoNoOaR~LDNE

3.2.  Mooynv 3M-II2 “Environment”; I pynu uacie Continuous (Present,
Past i Future) 6 akmusHomy i nacusHomy cmanax, nepexiao CycnilbHO-
NONIIMUYHO20 MEKCMY 3 AH2ATUCLKOI HA YKPAIHCHKY MOBU, NepeKlad meKCcmy 3d
gaxom.

Jlitepatypa: [1, c. 16 -25], [2, c. 24-26], [6, c. 24-34]
3.2.1. IloBuanHs

a) Text “Environment”.
1. [IpounTaTy TEKCT aHTTINCHKOIO MOBOIO.
2. BunucaTu 3 TEKCTy HOBI CJIOBA Ta 3pOOUTH iX TIEPEKIIaI.
3. YCcHO nepek1acTi TEKCT 3 aHITIMChKOT Ha YKPaiHChKY MOBY.
4. Ilepeka3aTu TEKCT.

b) Ilepeknan CycHiibHO-MOJITHYHOTO
1. CamocriitHO BUOpaTH TEKCT 3 aHTIIOMOBHOI ra3etu (2 500 ap.3HaKiB)
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2. BunucaTu 3 TEKCTYy HOBI CJI0OBa Ta 3pOOUTH X MEpeKal.

3. YCHO nepekinacTy TEKCT 3 aHIINChKOT Ha YKPaiHChKY MOBY.
4, ITucbmoBe Summary.

5. ¥Ycue Summary

¢) I'pymu yaci Continuous (Present, Past i Future) B akTuBHOMY i
IIACMBHOMY CTaHax
1. 3poOuTH KOHCIIEKT MPaBWJI yTBOPEHHS Ta BXKUBAHHS TPYNH YaciB
Continuous (Present, Past, Future) B Active and Passive Voice.
2. BukoHatu TpeHyBaJIbHI IpaMaTUYHI BIPABH.

d) omamne yntanns. [Tepexnan Tekcry 3a haxom
1. CamocTiiiHO BUOpaTH TEKCT 3 aHIJIOMOBHOTO TeKCTy 3a (haxom (8000
JIp.3HAaKIB
2. BunucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH X MEepeKal.
3. YCcHO nepekiacTi TeKCT 3 aHTJIHChKOI Ha YKPaiHChKY MOBY.
4. ITucpmoBe Summary.
5. Ycae Summary

3.2.2. IlutanHs U1 caMOTepeBIpKU

What types of ecological factors do you know?

What reaction of the organism on the abiotic factor’s influence (e.g.
temperature) may be observed?

What factors are primary? Secondary?

What are the climatic factors?

What abiotic factors are essential to life?

What are the five factors that affect climate? What factors regulate
temperature?

What climate factors affect Ukraine?

What are the major biotic factors in ecological systems?

What are major limiting abiotic factors in deserts?

10.What are the major abiotic factors of the temperate rainforests?
11.What are major biotic and abiotic factors of a lake?

3.3. Mooyas 3M-IT3 “Population Ecology ”; I pynu uacie Perfect (Present,
Past i Future) 6 akxmuenomy i nacugHomy cmaHax, nepexiao cyCnilbHo-
NOJIIMUYHO20 MEKCNY 3 AHSNIUCHKOL HA YKPAIHCLKY MOSU.

Jliteparypa: [1, ¢. 25-34], [2, c. 26-28], [6, c. 35-46]
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3.3.1. [ToBuanus

a) Text “Population Ecology”.

1. I[IpounTaTu TEKCT AHTIAIMCHKOIO0 MOBOIO.
2. BunucaTu 3 TEKCTy HOBI CJIOBA Ta 3pOOUTH iX TIEPEKIIAI.
3. YCHO nepeKIiacTi TEKCT 3 aHITMChKOT Ha YKPaiHChKY MOBY.

b) JlomamrHe yntaHHs (MIEPEKIIA] CyCHiTbHO-TIOJITHYHOTO TEKCTY)

1. CaMoCTIfHO BUOpATH TEKCT 3 aHTJIOMOBHOI razeTH (2500 1p.3HaKiB)
2. BunucaTu 3 TEKCTy HOBI CJIOBA Ta 3pOOUTH X TIEpEKIal.

3. YcHO nepeksiacT TeKCT 3 aHTIIHCHKOI Ha YKPaiHChKY MOBY.

4. [TucbmoBe Summary.

5. Ycue Summary

¢) Grammar:
I'pynu yacis Perfect (Present, Past i Future) B aktTuBHOMY i TACUBHOMY
CTaHax

1. 3poOHUTH KOHCTIEKT NPaBUJI YTBOPEHHS Ta B)KUBAHHS TPYIIU YaciB
Perfect (Present, Past, Future) B Active and Passive Voice.
2. BUkoHaTu TpeHyBaJIbHI IPaMaTU4H1 BIPABU.

3.3.2. [lutanHs 1751 caMOTIEPEBIPKU

=

How can we describe a population’s distribution?

2. What are three common distribution patterns observed among individuals
within a population?

Why do we try to estimate population sizes?

What values are indicated on the survivorship curve? Draw and explain.
What values can be obtained from the age structure diagram? Draw and
explain.

What information can you get from a life table? Draw and explain.

Is a population a group composed of all members of the same species?
What is population?

. Where does this group live?

10 What does population ecology study?

11.What will the status of specific population indicate?

12.What can the areas occupied by a population include?

ok~ w
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3.4. Mooyns 3M-IT4 “The Habitat”’; I pynu uacie Perfect Continuous
(Present, Past i Future) 6 akmusHoMy i NACUBHOMY CMAHAX, NepeK1ao
CYCNINbHO-NONMUYHULL MEKCM 3 AH2AIUCLKOL HA YKPAIHCLKY MOBU, NepeKaao
mexcmy 3a ¢haxom.

Jlitepatypa: [1, c. 35-45], [2, c. 28-32], [6, c. 47-58, 61-62]
3.4.1. [loBuanus

a) Text “The Habitat”.

1. [IpounTaTy TEKCT aHIITINCHKOIO MOBOIO.

2. BunucaTu 3 TEKCTy HOBI CJIOBA Ta 3pOOUTH X TIEpEKIIal.

3. YcHO nepeksiacT TeKCT 3 aHTIIHCHKOT Ha YKPaiHChKY MOBY.
4. Ilepeka3aTu TEKCT.

b) JlomamrHe yntanHs (MIEPEKIIa CyCIUTFHO-TIOJITHYHOTO TEKCTY)

1. CamocTiifHO 00paTH TEKCT 3 aHTIIOMOBHOI ra3zet (2500 mp.3HaKiB)
2. BunucaTu 3 TEKCTy HOBI CJIOBA Ta 3pOOUTH iX NEpEKIal.

3. YCHO nepeKIacT TEKCT 3 aHTJIHCHhKOI Ha YKPaiHChKY MOBY.

4. [TucpmoBe Summary.

5. Ycue Summary

¢) Grammar:
I'pyou yaciB Perfect Continuous (Present, Past 1 Future) B akTuBHOMY 1
[MIACHBHOMY CTaHaX

1. 3poOuTH KOHCIIEKT MPaBUJI YTBOPEHHS Ta BXKMBAHHS IPYIH YaciB
Perfect Continuous (Present, Past, Future) B Active and Passive Voice.
2. BukoHaTu TpeHyBaJIbHI rpaMaTU4H1 BIIPABH.

d) Momamue ynranns. [Tepexnan Tekcry 3a haxom
1. CaMOcCTIitHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKCTy 3a (haxom (8000
JIp.3HAaKIB
2. Bunucatu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH iX MepeKal.
3. YCcHO nepeksacTu TEKCT 3 aHIJIIChbKOT Ha YKPaiHChbKY MOBY.
4. TTucpmoBe Summary.
5. Ycue Summary
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3.4.2. ITutanHs AJ11 cCaMOTIEPEBIPKU

1. How do we call the place occupied by organisms? Where the habitat can be
found?

What factors does the habitat consist of?

What specific place tells about the role of species in the ecosystem?

What does the ecological niche tell us about? What factors does ecological
niche depend upon?

How is succession initiated? What dynamics can be observed in succession?
What is organism address and profession?

Who gave these definitions to the organism?

What kinds of ecological succession do you know?

9. What is successional dynamics?

10. How many factors of ecological groups do you know?

11. What is a biotope?

12. What specific abiotic substances the factors do include?

13. What are natural disasters?

14. What do the biogeochemical cycles guarantee?

B wno

NG

3.5. Mooyav 3M-II5 “The Ecosystem”, “Famine and flood ”, The Infinitive;
nepexnao mekcmy 3a (haxom ma nepexnao CycnilbHO-NOMIMUYHO20 MEKCH) 3
AH2NTUCLKOI HA YKPAIHCLKY MOBY.

Jliteparypa: [1, c. 45 -55], [2, c. 38-42], [5, c. 73-84]

3.1.1. IloByanHus

e) Text A. “The Ecosystem”. “Famine and flood”.

1. [IpounTatu TEKCT aHIIIHCHKOIO MOBOIO.

2. Bunicatu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH iX TIEPEKIIaI.

3. YCcHO nepeKiacTy TEKCT 3 aHTJIHChKOI Ha YKPAiHChKY MOBY.
4. Ilepekas3aTu TEKCT.

f) Homamine yntauus. [lepekaam TekcTy 3a haxom.

1. CamocTiiiHO BUOpaTH TEKCT 3 aHIJIOMOBHOTO TeKCTy 3a (haxom (8000
1p.3HaKiB)

2. Bunucatu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH iX MepeKal.

3. YCHO nepeks1acTu TEKCT 3 aHIJIHChKOT Ha YKPaiHChbKY MOBY.

4. TTucbmoBe Summary.
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5. Ycue Summary

g) HdomarHe ynTaHHs (IEPEKIIa]] CYCIIbHO-TOJITHYHOIO TEKCTY)

1. CamocTiitHO 00paTy TEKCT 3 aHTIAIOMOBHOI razetu (2500 mp.3HaKIB)
2. Bunncatu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH iX MEpEKIal.

3. YCHO mepeKsIacTu TeKCT 3 aHTJIIChKOI Ha YKPaiHChKY MOBY.

4. TTucpmoBe Summary.

5. Ycue Summary

h) Grammar:
The Infinitive

1. 3po6uTH KOHCIIEKT MpaBUJI BXKUBAaHHA 1H(IHITUBY Ta loro popM y
aKTUBHOMY Ta TACUBHOMY CTaHaX.
2. BukoHaTtu TpeHyBaJIbHI rpaMaTHU4HI BIIPABH.

Pwn e
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9.

3.1.2. IlutanHs U1 caMOTepeBIpKU

What is an ecosystem?

What are autotrophic beings?

What are heterotrophic beings?

What are the processes that autotrophic beings use to produce organic material
from inorganic substances?

What is the primary energy source for life on earth?

What is the main means by which autotrophic beings obtain energy?

Which is the autotrophic group responsible for the production of most part of
the molecular oxygen of earth?

In the ecological study of food interactions, what are the autotrophic beings
called?

How are the heterotrophic beings divided in the ecological study of foo
interactions?

10.What are primary consumers?
11.Can a food chain present quaternary consume: without having secondary or

tertiary consumers?

12.Can a tertiary consumer of one chain be a primary or secondary consumer of

another chain?
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3.6.  Mooyrb 3M-II6 “Global Warming”, “Kyoto Revisited ”, The Gerund;
nepexnao mekcmy 3a (haxom ma nepexnao CycnilbHO-NONIMUYHO20 MEeKCM) 3
AH2NTUCLKOI HA YKPAIHCLKY MOBY.

Jliteparypa: [1, c. 55 - 64], [2, c. 47-50], [6, c. 94-100]
3.2.1. IloByanus

a) Text A. “Global Warming”. “Kyoto Revisited”.

1. [IpounTatu TEKCT aHTIIHCHKOIO MOBOIO.

2. BunucaTu 3 TEKCTy HOBI CJI0OBa Ta 3pOOUTH iX MEpeKal.

3. YCHO nepekiIacTy TEKCT 3 aHIJIIHCHKOT Ha YKPaiHChKY MOBY.
4. Ilepeka3aTu TEKCT.

b) Homarine untanus. [Tepekiam TEKCTY 3a Gaxom.

1. CaMocCTIiitHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKCTy 3a (haxom (8000
JIp.3HAKIB

2. BunucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEPEKIIa.

3. YCHO nepeKiacTu TEKCT 3 aHTJIHChKOI Ha YKPAiHCbKY MOBY.

4. TImcpmoBe Summary.

5. Ycue Summary

c) JlomarHe ynTaHHs (MEPEKIIa CyCIiIbHO-TOTITHYHOTO TEKCTY)

. CamocrTiifHO 00paTu TEKCT 3 aHTIIOMOBHOI razetu (2500 ap.3HaKiB)
. Buncatu 3 TekcTy HOBI ClloBa Ta 3p0OUTH iX MEPEKIIa/l.

. YCHO mepeKIIacTu TEKCT 3 aHTIIHCHKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

DN BN WN =

d) Grammar:
The Gerund

1. 3po6uTH KOHCHIEKT MPaBUJI BXKUBAHHA T€PYHIII0 Ta KOT0 (hOPM Y aKTUBHOMY
Ta MACUBHOMY CTaHaXx.
2. BukoHaTtu TpeHyBaJIbHI TpaMaTHYHI BIIPABH.

3.2.2. [lutaHHs 1151 caMOTIepEBIPKH

12.What is one of the biggest threats facing the planet?
13.What is the cause of temperature’s rising?
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14.What have the researchers gathered over the past 20 years?

15.What is the global warming?

16.Do you know the real size of mankind’s contribution to the warming trend?

17.How should greenhouse-gas emissions be abated?

18.What is in a new paper for the Copenhagen Consensus project examined?

19.Are rising temperatures capable of causing great economic harm-though a
lot?

20.How much would total economic damage fall on farmers?

21.Why could farmers no longer use some lands?

22.What does Mr. Cline investigate?

23.What is the Kyoto treaty?

24.What would a global carbon tax encourage?

25.Why do many rich countries refuse to sign the Kyoto treaty?

26. Does the last policy recognize that predictions of climate change encompass
a wide range of scenarios? Why?

27. What can you say about the possible damage costs?

28.Do you know three possible remedies?

29.Are given figures huge and very speculative?

3.7. Mooyas 3M-IT7 “Natural Wonders of the World ”, The Participle;
nepexnao mekcmy 3a (haxom ma nepexnao CycnilbHO-NOJIMUYHO20 MEKCH) 3
AH2NTUCLKOI HA YKPAIHCLKY MOBY.

Jlireparypa: [1, ¢. 65-79], [2, c. 42-47], [6, c. 84-94]

3.3.1. IToByanus
a) Text A. “Natural Wonders of the World .

1. [IpounTatu TEKCT aHIIIHCHKOIO MOBOIO.

2. BunucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEPEKIIa.

3. YCcHO nepeKIiacTu TEKCT 3 aHTJIHChKOI Ha YKPaiHChKY MOBY.
4. Tlepeka3aTu TEKCT.

b) lomarune untanus. [lepeknan TekCcTy 3a haxom.

1. CamocTiiiHO BUOpaTH TEKCT 3 aHIJIOMOBHOTO TeKCTy 3a (haxom (8000
JIp.3HAaKIB
2. BunucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEPEKIIa.
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. YCHO mepeKIacTi TEKCT 3 aHTUIMCHKOI Ha YKPaTHChKY MOBY.
. [TucemoBe Summary.
. YcHe Summary

whn B W

c) MomamrHe ynTaHHs (IEPEKIIa CyCIUTbHO-TIOTITHYHOTO TEKCTY)

. CamocTiifHO 00paTu TEKCT 3 aHTIIOMOBHOI razet (2500 ap.3HaKiB)
. BumnucaTu 3 TEKCTy HOBI CJIOBa Ta 3p0OUTH 1X MEPEKIIaI.

. YCHO NepeKIIacTu TEKCT 3 aHTJIIChKOI Ha YKPaTHCHKY MOBY.

. [lucemoBe Summary.

. YcHe Summary

DN B WN -

d) Grammar:
The Participle

1. 3poOuUTH KOHCHEKT MPaBUJ BXKUBAHHS JIIENPUKMETHHUKA Ta HOro GopM y
AKTHBHOMY Ta ITAaCUBHOMY CTAaHAX.
2. BukoHaTu TpeHyBaJlbHI FpaMaTH4HI BIPABHU.

3.3.2. IlutanHs 1151 caMOTIepEBIpKU

13.What does the Victoria Falls offer?

14.Who reported the existence of the Falls?

15.When did David Livingstone reported the existence of the Falls to the
outside world?

16.What is the Hunters Road?

17.What does the list of commercial activities include?

18.What can you say about the Grand Canyon?

19.What can you say about the John Wesley?

20.What did John Wesley write about the Grand Canyon?

21.What can you say about the Colorado river?

22.What is Gorge?

23.What is Vishnu schist?

24.How many years ago did Grand Canyon form?

25.What other magnificent wonders of the world do you know?

26. When did the region become more politically stable?

27.\Why are new activities emerging and why is the industry becoming more

and more sophisticated?
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3.8. Mooyas 3M-II8 “Decision-Making on the Solution of Ecological
Problems”, The Conditional sentences (Type 0, I, Il, 111); nepexnao mexcmy 3a
G axom ma nepexnao cycniibHO-NOIIMUYHO20 MEKCMY 3 AHSAIUCLKOL HA
VKPAIHCbKY MO8Y.

Jlitreparypa: [1, c. 80-91], [2, c. 59-60], [6, c. 121-138]
3.4.1. [loBuanus
a) Text A. “Decision-Making on the Solution of Ecological Problems .
1. IlpoynTaTy TEKCT aHTIIMCHKOI MOBOIO.
2. BunucaTu 3 TeKCTy HOBI CJIOBa Ta 3pOOUTH iX MEepeKa.
3. YCcHO nepekiacT TeKCT 3 aHTJIHChKOT Ha YKPaiHChKY MOBY.

4. IlepekaszaTu TEKCT.

b) domamne yntanss. [lepekian TekcTy 3a haxom.

1. CaMocCTIitHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKCTy 3a (haxom (8000
JIp.3HAKIB

2. BunucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH 1X TIEPEKIIa.

3. YCHO nepeK1acTu TEKCT 3 aHIJIHChKOI Ha YKPaiHCbKY MOBY.

4. TTucpmoBe Summary.

5. Ycue Summary

c) JlomarHe ynuTaHHs (MIEPEKIIa CyCIIbHO-TOTITHYHOTO TEKCTY)

1. CamocTiitHO 00paTu TEKCT 3 aHTIOMOBHOI razetu (2500 ap.3HaKiB)
2. BunucaTu 3 TEKCTYy HOBI CJIOBa Ta 3pOOUTH iX NEpeKa.

3. YCcHO nepeKiacTu TEKCT 3 aHTJIHChKOI Ha YKPaiHCbKY MOBY.

4. TIucpmoBe Summary.

5. Ycue Summary

d) Grammar:
The Conditional sentences (Type 0, I, 11, 111)

1. 3poOuTH KOHCIIEKT MTPaBWJI BXKMBAHHS YMOBHUX PEUEHB Ta X CTPYKTYpH
MoOYyIOBU B PEUCHHSX.
2. Bukonatu TpeHyBalIbHI TpaMaTHYHI BIPABH.
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3.4.2. ITutanHs AJ11 cCaMOTIEPEBIPKU

1. Is it possible to speak about the target behavior of a system in a certain
environment?

Why must we obtain necessary information?

What do you know about anthropo-ecological system?

What is the difference between the target behavior and adaptation of
behavior?

What can we say from the viewpoint of social economic development?
Why must the barriers of natural conditions be learned?

What do you know about the process of cognition of natural and social laws?
What are trajectory variants?

What is one of the serious problems of the decision-making process in the
solution of ecological problems?

10.What have many scientists already agreed?

11.In what solution does all branches of natural and social sciences intervene?
12.1s this certainly a generally acceptable view?

13.With what does its implementation meet?

14.What is the main problem of the specialized terminology?

15.Why do conflicts occur among specialists?

16.What is another problem of such inter-disciplinary cooperation?

17.Why is this discussion totally pointless?

18.What have we to realize?
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3.9. Mooyns 3M-II9 “Strategy of National Ecological Policy of Ukraine Until
20207, Indirect speech; nepexnao mexcmy 3a gpaxom ma nepekiao cycniivHo-
NOJNIMUYHO20 MEKCMY 3 AH2TTUCLKOI HA YKPAIHCLKY MOB).
Jlitepatypa: [1, c. 91-101], [2, c. 61-62], [4, c. 360-383]
3.4.1. IloBuaHHs

a) Text A. “Strategy of National Ecological Policy of Ukraine Until 2020 .
1. [IpounTatu TEKCT aHTIINCHKOIO MOBOIO.
2. Bunucatu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH iX MepeKal.

3. YCHO nepeksIacTu TEKCT 3 aHIJIIChKOT Ha YKPaiHChbKY MOBY.
4. IlepekaszaTu TEKCT.
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b) Homamine unranus. [lepekiam TeKCTy 3a Gaxom.

1. CamocTiiiHO BUOpATH TEKCT 3 aHIJIOMOBHOTO TeKCTy 3a (haxom (8000
JIp.3HAaKIB

2. BunncaTy 3 TEKCTy HOBI CJI0OBa Ta 3pOOHTH 1X TIEpEeKIal.

3. YCHO mepeKs1acTu TEKCT 3 aHTJIIIMChKOI Ha YKPaiHChKY MOBY.

4. TTucpmoBe Summary.

5. Ycue Summary

c) MomamrHe ynTaHHs (MIEPEKIIa CyCITbHO-TIOJITHYHOTO TEKCTY)

1. CamocTiitHO 00paTu TEKCT 3 aHTJIOMOBHOI razetu (2500 ap.3HaKiB)
2. Bunmcaty 3 TEKCTy HOBI CJIOBa Ta 3pOOHTH iX MEPEKIIa.

3. YCcHO nepekiacTi TeKCT 3 aHTJIACHKOI Ha YKPaiHChbKY MOBY.

4. ITucpmoBe Summary.

5. Ycue Summary

d) Grammar:
Indirect speech

1. 3poOuTH KOHCIIEKT MpaBUJI BXKMBAHHS YMOBHHUX PEUYEHB Ta iX CTPYKTYpHU
MoOYyJJOBU B PEUCHHSX.
2. BukoHaTu TpeHyBaJIbHI TpaMaTHU4HI BIIPABH.

3.4.2. [lutanHs 17151 cCaMOTIEPEBIPKU

What are the main problems of pollutant emissions?

What can we observe in our environmental?

What have the competent authorities been continuously registering up?

What position does Ukraine take according to UNESCO?

Why does the system of state governance in the area of protection of waters

require?

What can you say about drinkable water supply of Ukraine?

7. What are the main factors of sanitary and epidemiological well-being of
population?

8. What does pollution of water with nitrates cause?

9. Why is status of land resources in Ukraine close to critical?

10. Is the largest territory of Ukraine occupied by agricultural lands (71 per
cent), 78 per cent?

11. What can you say about forest resources in Ukraine?

12. Why doesn’t the system of management in the area of protection and

restoration of forests fully ensure?
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13. What does biosphere of Ukraine count?

14. What can you say about a considerable decrease of landscape diversity in
Ukraine?

15.What is a strategic task in achieving the ecological balance of the territory of
Ukraine?

3.10. Mooyas 3M-IT10 “State ecological monitoring ”, Subjunctive mood.
Revision; nepexnao mexcmy 3a ¢paxom ma nepekiao cycniibHo-noAIMUYHO20
meKCcmy 3 aH2NiUCbKOi Ha YKPAIHCbKY MOB).

Jlitepatypa: [1, c. 101-115], [2, c. 52-55], [6, c. 106-120]
3.4.1. [loBuanHs
a) Text A. “State ecological monitoring .
1. [IpounTatu TEKCT aHIIIMCHKOIO MOBOKO.
2. BunucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEPEKIIa.

3. YCHO nepeKiacTu TEKCT 3 aHIJIHChKOI Ha YKPaiHCbKY MOBY.
4. Ilepekas3aTu TEKCT.

b) Homaiine untanus. [Tepekian TeKCTY 3a Gaxom.

1. CamocTiitHO BHOpATH TEKCT 3 aHTJIOMOBHOTO TeKCTY 3a (haxom (8000
1p.3HaKiB)

2. BunucaTu 3 TeKCTy HOBI CJIOBa Ta 3pOOUTH X TEpEeKIal.

3. YCcHO nepekiacT TeKCT 3 aHTJIHCHKOT Ha YKPaiHChKY MOBY.

4. TIucpmoBe Summary.

5. Ycue Summary

c) MomarHe ynTaHHs (MIePEeKIIaz] CyCIUTbHO-TIOJITHYHOTO TEKCTY )

. CamocTiifHO 00paTu TEKCT 3 aHIIIOMOBHOI razetu (2500 ap.3HaKiB)
. Bunicatu 3 TekcTy HOBI cllIoBa Ta 3p0OUTH iX MEPEKIal.

. YCHO NepeKIIacTu TEKCT 3 aHIJIIIChbKOI Ha YKPaiHCHKY MOBY.

. [lucemoBe Summary.

. Ycue Summary

DB W —
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d) Grammar:
Subjunctive mood. Revision.

1. 3poOUTH KOHCHEKT MpaBUi B)KUBAHHS YMOBHHUX PEUEHB Ta iX CTPYKTYpHU
MoOyJOBU B PEUCHHSX.
2. BukoHatu TpeHyBaJlbHI IpaMaTUYHI BIPABH.

3.4.2. IlutaHHs 7151 CAMOTNIEPEBIPKH

1. What can you say about the subjects of the state environment monitoring
system?

2. What does the State Hydrometeorological Service (the Ministry of
Emergencies) monitor?

3. Why are the chemical composition of atmospheric precipitations and their
acidity under observation?

4. How many pollutants does the program of compulsory monitoring of air
quality include?

5. What does State Environmental Inspectorate (the Ministry of Environment)
provide?

6. How is water quality monitored?

7. What do water management organizations monitor?

8. What does Sanitary and Epidemiological Service (the Ministry of Health)
carry out?

9. What can you say about the responsibilities of monitoring systems?

10. What are the indicators of radioactive contamination?

11. What do the enterprises of the State Forestry Committee monitor and
assess?

12. What do the monitoring laboratories of the Ministry of Agricultural Policy
carry out?

13. What does the Ministry of Emergencies monitor within the 30-km zone
around the Chernobyl Nuclear Power Plant?

14.What does International Radioecology Laboratory of Chornobyl Centre for
Nuclear Safety monitor?

15. What must local authorities do to prevent further contamination?
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4. IMTAHHA 10 3AXOAIB IIOTOYHOT' O, IIICYMKOBOI'O
TA CEMECTPOBOI'O KOHTPOJIIO

4.1. I'pamMaTryHi 3aBAaHHS 10 MOJIYJIBHOI KOHTPOJIbHOI po0oTH Moyis 3M-IT1.

Module control work Ne 1

[2,c. 20 — 24], [3, c. 4 — 23]

I. Grammar Test (Yacu I'pymm Indefinite)

Put the right form of the verb:

1.

2.

9.

You are a great cook! This cake (to taste) wonderful as usual. [2, c. 21 — 22],
[3,c.4-13]

The students (to ask) not to be late for their classes. [2, c. 21-22, 32], [3, c. 4
—13]

My father is sure bicycles (to use) as the most popular city transport in
twenty years' time. [2, c. 23, c. 32], [3, c. 19 — 23, c. 47 — 55]

It (to announce) in London that morning that the British Oil Corporation had
discovered oil under the sea near the Welsh coast. [2, c. 22 — 23, c. 32], [3,

c. 13-19]

A new hospital (to build) in our neighbourhood next spring. [2, c. 23 — 24,
c.32], [3,c. 1923, c. 47 — 55]

They (to finish) the work at the end of the week. [2, c. 23 —24], [3, c. 19 — 23]
The accident (to happen) while they were driving on the highway. [2, c. 22],
[3,c. 13-19]

As long as | am head of this company, I (to handle) not all the business. [2,
c. 23], [3, c. 19 — 23]

The desire for fame (to make) men work hard and does not let them rest till
the goal is gained. [2, c. 21 — 22], [3, ¢. 4 — 13]

10.Yesterday, when he (to open) the door, he (to understand) that he (to do) it

with a wrong key. [2, c. 22 — 23], [3, ¢. 13— 19]

11.She (not to see) me when | (to come) into the room. [2, c. 22 — 23], [3, ¢c. 13—

19]

12.As a rule he (to translate) two articles a week. [2, c. 21 —22], [3, ¢. 4 — 13]
13.Why you (not to put) your coat on yesterday? [2, c. 22 — 23], [3, c. 13 - 19]
14.He (to play) football every day. [2, c. 21 — 22], [3, c. 4 — 13]

15.Last year | (to take) by my parents to the South. [2, ¢. 22 — 23, ¢. 32], [3, c. 13

19, ¢. 47 - 55]

16.Tomorrow we (to pass) the examination. [2, c. 23-24], [3, c. 19 — 23]
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17.He usually (to travel) by train. [2, c. 21 —22], [3, c. 4 — 13]

18.He filled in his name, signed the contract and (to give) it to the secretary. [2,
c.22-23],[3,c. 13-19]

19.We (to stay) in that city twice in 2018. [2, c. 22 — 23], [3, c. 13- 19]

20.How often does Nick go to the swimming pool? — He (to go) to the swimming
pool every day. He likes swimming. [2, c. 21 —22], [3, c. 4 — 13]

21.After supper my sister (to go) for a walk. [2, c. 21 — 22], [3, c. 4 — 13]

22.Great Britain (to lie) in the eastern part of the Atlantic Ocean. [2, c. 21 — 22],
[3,c.4-13]

23. The teacher (to explain) a new rule yesterday. [2, c. 22 — 23], [3, ¢. 13 — 19]

24.We (to meet) them at the railway station tomorrow. [2, 23 — 24], [3, ¢. 19 —
23]

25.The sea (to surround) the British Isles. [2, ¢c. 21 —22], [3, ¢. 4 — 13]

26.Yesterday we (to write) a dictation. [2, c. 22 — 23], [3, c. 13 - 19]

27.She (to give) you a good advice next week. [2, 23 — 24], [3, c. 19 — 23]

28.The pupils of our form (to go) in for sport. [2, ¢c. 21 —22], [3, ¢. 4 — 13]

29.The children (to spend) the whole day in the park. [2, c. 22 — 23], [3, c. 13 —
19]

30.They (to go) to Poland next month. [2, 23 — 24], [3, c. 19 — 23]

31.Many tourists (to come) to our town in summer. [2, c. 21 — 22], [3, c. 4 — 13]

32.We (to reach) the village before dark. [2, c. 22 — 23], [3, ¢. 13 - 19]

33.My brother (to be) on leave next spring. [2, 23 — 24], [3, ¢. 19 — 23]

34.He (to like) to write long letters. [2, ¢c. 21 — 22], [3, ¢. 4 — 13]

35.The student (to pass) the examination successfully. [2, ¢c. 22 — 23], [3, ¢. 13 —
19]

36.Tomorrow they (to be) far from here. [2, 23 — 24], [3, c. 19 — 23]

37.The Severn (to be) the longest river in Great Britain. [2, ¢. 21 —22], [3,¢. 4 —
13]

38.The pupils of our form (to go) to the museum last week. [2, c. 22 — 23], [3, c.
13-19]

39.He (to go) to the post-office to wire to his mother tomorrow. [2, 23 — 24], [3,
c. 19 - 23]

40.Usually I (to clean) my room on Saturday. [2, c. 21 — 22], [3, c. 4 — 13]

41.1 (to go) to England last year. [2, ¢c. 22 — 23], [3, ¢. 13 - 19]

42.1 (to give) her a valuable present to her next birthday. [2, 23 — 24], [3, c. 19 —
23]

43.Shakespeare's plays and poems (to be) the monument of a remarkable genius.
[2,c.21-22],[3,c.4—-13]

44 We (to do) the work in time. [2, ¢. 22 — 23], [3, ¢. 13— 19]

45.1t (to rain) hard in the afternoon tomorrow. [2, 23 — 24], [3, ¢. 19 — 23]
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46.The sun (to rise) in the East. [2, ¢c. 21 — 22], [3, ¢. 4 — 13]

47.She (to tell) us the truth. [2, c. 22 — 23], [3, c. 13— 19]

48.You (to see) a beautiful park near the lake. [2, 23 — 24], [3, c. 19 — 23]

49.Water (to freeze) at zero. [2, c. 21— 22], [3, ¢c. 4 — 13]

50.1 (to speak) and write English perfectly. [2, c. 21 —22], [3, c. 4 — 13]

51.1 (to be) glad to see you again. [2, 23 — 24], [3, c. 19 — 23]

52.1 (to hear) somebody's voice in the distance. [2, c. 21 —22], [3, ¢c. 4 — 13]

53.My friend (to learn) Shakespeare's poem by heart. [2, c. 22 — 23], [3, c. 13 -
19]

54.She (not to clean) the flat in the evening. [2, 23 — 24], [3, ¢. 19 — 23]

55.The pupils (to write) dictations twice a week. [2, c. 21 — 22], [3, ¢c. 4 — 13]

56. We (to work) in the garden two days ago. [2, ¢. 22 — 23], [3, ¢. 13 - 19]

57. (to plant) they a lot of trees in spring? [2, 23 — 24], [3, c. 19 — 23]

58. The librarian (to give) us interesting books and magazines every month. [2,
c.21-22],[3,c.4-13]

59. There (to be) flowers in her hand. [2, c. 22 — 23], [3, c. 13 — 19]

60. At what time (to get up) you tomorrow? [2, 23 — 24], [3, c. 19 — 23]

[1, c. 13-14]
I1. Fill the gaps:
Environmental Science

Environmental science isan 1) academic field that integrates
physical and biological sciences (including physics, chemistry, biology, soil
science, geology, and geography) to the study of the 2) , and the
solution of environmental problems. Environmental science provides an
integrated, quantitative, and interdisciplinary approach to the study of

environmental 3) . Related areas of study include environmental
studies and environmental engineering. Environmental studies incorporate more
of the social sciences for 4) human relationships, perceptions and

policies towards the environment. Environmental engineering focuses on design
and technology for improving environmental quality. Environmental scientists
work on subjects like the understanding of earth processes, evaluating alternative
energy systems, pollution control and mitigation, natural resource management,
and the effects of global 5) . Environmental issues almost always
include an interaction of physical, chemical, and biological 6) :
Environmental scientists bring a system 7) to the analysis of
environmental problems. Key elements of an effective environmental scientist
include the ability to relate space, and time relationships as well as quantitative
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8) . Environmental science came alive as a substantive, active field
of scientific investigation in the 1960s and 1970s driven by a) the need for a multi-
disciplinary approach to analyze 9) environmental problems, b) the
arrival of substantive environmental laws 10) specific
environmental protocols of investigation and c) the growing public awareness of
a need for action in addressing environmental problems.

A) Analysis, B) systems, C) complex, D) approach, E) requiring, F) processes,
G) climate change, H) understanding, 1) interdisciplinary, J) environment.

4.2. I'pamatuyHi 3aBJaHHs 10 MOJAYJIbHOI KOHTPOJIBHOI podoTu Moayns 3M-T12.

Module control work Ne 2
[2, c. 24 -26], [3, c. 23 -30]
I. Grammar Test (Uacu I'pynu Continuous)

Put the right form of the verb:

1. I cut my finger when | (to peel) the potatoes. [2, c. 24 — 25], [3, c. 26 — 28]

2. Our flat (to paint) at the moment, so it doesn't look its best. [2, c. 24, c. 32],
[3, c. 23 - 26, c. 47 -55]

3. When the Smiths came they (to convince) the whole hour that Paul himself
had broken the window at his house because he wanted to make them think
that a burglar had stolen his valuable stamp collection. [2, c. 24-25], [3, c. 26
— 28]

4. Where are you going? | (to speak) with you. [2, c. 24], [3 c. 23 — 26]

5. My brother will be absent. He (to prepare) for his exam at this time
tomorrow. [2, c. 25], [3 c. 28 — 30]

6. Steven (to talk) with Ann when | saw them in the Central Park. [2, c. 24-25],
[3, c. 26 — 28]

7. He was getting the best care and treatment in the hospital, and he (to
monitor) night and day. [2, c. 24-25, c. 32], [3, c. 26 — 28, c. 47 — 55]

8. The new computer system (to install) at the moment. [2, c. 24-25, c. 32], [3,
c. 23— 26, c. 47 -55]

9. We can’t take the car: it (to repair) in the garage. [2, c. 24, c. 32], [3, €. 23 —
26, c. 47 —55]

10.Nowadays people (to blame) their circumstances for what they are. [2, c. 24-
25], [3 c. 23 - 26]
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11.When I looked out of the window, I saw that it (to snow) and everything was
covered with snow. [2, c. 24-25], [3, c. 26 — 28]

12.Somebody (to talk) in the next room? — No, nobody (to talk). My son (to
watch) television now. [2, c. 24], [3 c. 23 — 26]

13.What he (to do) here? — He (to wait) for his friend. [2, c. 24], [3 c. 23 — 26]

14.They (to play) chess the whole evening. [2, c. 24-25], [3, c. 26 — 28]

15.At two o'clock tomorrow we (to take) our French lesson. [2, c. 25], [3, c. 28 —
30]

16.Yesterday | returned home at eight o' clock: it (to get) dark and (to rain) at
the time. [2, c. 24-25], [3, c. 26 — 28]

17.Tomorrow he still (to work) when | come home. [2, c. 25], [3, c. 28 — 30]

18.We are very busy now. We (to discuss) a very important question. [2, c. 24],
[3 c. 23 -26]

19.She (to sit) in the armchair and (to read) an interesting book now. [2, c. 24],
[3 c. 23 -26]

20.You (to work), when | phoned you last night? -Yes, | (to work). [2, c. 24-
25], [3, c. 26 — 28]

21.Where is Anna? She is in the library. She (to prepare) her report for
tomorrow. [2, c. 24-25], [3, c. 23 — 26]

22.1t (to be) raining hard now. [2, c. 24 — 25], [3, c. 23 — 26]

23.We (to be) passing our English examination at this time tomorrow. [2,
c. 25-26], [3, c. 28 —29]

24.Look! The bus (to come) up. [2, c. 24 — 25], [3, c. 23 — 26]

25.1 (to be) playing the violin when she came in. [2, c. 24-25], [3, c. 26 — 28]

26.She (to be) preparing dinner at 3 o'clock. [2, c. 25 — 26], [3, c. 28 — 30]

27.What (to do) the children now? [2, c. 24 — 25], [3, c. 23 — 26]

28.She (to be) writing a report in the library at that time. [2, c. 24-25], [3, c. 26
— 28]

29.1 (to be) cleaning my room when you come. [2, c. 25 — 26], [3, c. 28 — 30]

30.They (to speak) in the street now. [2, c. 24 — 25], [3, c. 23 — 26]

31.The doctor (to be) examining the patients at 10 o'clock yesterday. [2, c. 24-
25], [3, c. 26 — 28]

32.He (to be) taking a walk in the park at 10 o'clock. [2, c. 25 — 26], [3, c. 28 —
29]

33.They (to play) football there now. [2, c. 24 — 25], [3, c. 23 — 26]

34.Their daughter (to be) going to be a nurse. [2, c. 24 — 25], [3, c. 23 — 26]

35.They (to be) flying to America at this time on Saturday. [2, c. 25 — 26], [3,
c. 28 -29]

36.Why she (to cry) now? [2, c. 24 — 25], [3, c. 23 — 26]

37.They (to be) talking about that day's weather. [2, c. 24-25], [3, . 26 — 28]
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38.1 (to be) skating the whole day tomorrow. [2, c. 25 — 26], [3, c. 28 —30]

39.Where you (to go) now? [2, c. 24 — 25], [3, c. 23 — 26]

40.We (to be) preparing for the English examination the whole day. [2, c. 24-
25], [3, c. 26 — 28]

41.We (to be) working hard this time tomorrow. [2, c. 25 — 26], [3, ¢. 28 — 30]

42.(to be) you answering the teacher's questions now? [2, ¢. 24 — 25], [3, ¢. 23 -

26]

43.My brother (to speak) over the telephone when | came in. [2, c. 24-25], [3,
c. 26 — 28]

44.She (to be) taking a music lesson at 10 o'clock on Sunday. [2, c. 25 — 26], [3,
c. 28 — 30]

45.(to be) your friends playing chess now? [2, c. 24 — 25], [3, c. 23 — 26]

46.The mother (to be) knitting a pullover when her little son broke a new cup.
[2, c. 24-25], [3, c. 26 — 28]

47.They (to build) a new club when you are in the country in summer. [2,
c. 25-26], [3, c. 28 — 30]

48.(to be) your father (to look) through the newspapers now? [2, c. 24 — 25], [3,
c. 23— 26]

49.(to be) you having tea when your parents came home from work? [2, c. 24-
25], [3, c. 26 — 28]

50.The boys (to play) football when you come home. [2, c. 25 — 26], [3, c. 28 —
30]

51.(to be) the dog barking in the yard now? [2, c. 24 — 25], [3, c. 23 — 26]

52.(to be) you (to do) your home task when they came home? [2, c. 24-25], [3,
c. 26 — 28]

53.He (to ski) at 5 o'clock tomorrow. [2, c. 25 — 26], [3, ¢. 28 —30]

54.(to be) you doing your homework now? [2, c. 24 — 25], [3, c. 23 — 26]

55.What (to be) you doing when your parents came home from work? [2,
C. 24 -25], [3, c. 26 — 28]

56.What you (to do) at 10 a.m. tomorrow? [2, c. 25 — 26], [3, ¢. 28 —30]

57.(to be) the sun (to shine) in the sky? [2, c. 24 — 25], [3, c. 23 —26]

58.1t (to rain) at that time on Sunday. [2, c. 24-25], [3, c. 26 — 28]

59.What your friend (to do) when you come to him tomorrow? [2, c. 25 — 26],
[3, c. 28 —29]

60.(to be) you (to listen) to the radio now? [2, c. 24 — 25], [3, c. 23 —26]
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[1, c. 15]
I1. Fill the gaps:

The cycle of biogenic elements and primary production in the principal
types of and ecosystems have been studied. It has been demonstrated that
1) volume of primary production on land is approximately double
that of the total production of the world ocean and that the productivity of tropical
forests is particularly high. The earth’s surface is photographed in the visible and

infrared regions of the spectrum from spacecraft in order 2) the
biomass reserves in terrestrial ecosystems. Research on the utilization of organic
matter synthesized by autotrophs has shown that on land only 3) of

organic matter is used directly by herbivorous animals, while the bulk of it, in the
form of dead plant tissue, is consumed by saprophagous and saprophytic
organisms. In addition to feeding links, other links exist between organisms in
ecosystems, particularly those involving metabolic products released by
organisms into the 4) . They are being actively studied in both
terrestrial and 5) ecosystems.

The study of the biosphere as a whole is particularly important,
6) the determination of primary production and decomposition
worldwide and the 7) of biogenic elements. These problems can
only 8) through the concerted efforts of scientists from various
countries.

9) of the phenomena studied by modern ecology explains its
extensive ties with numerous natural and humanistic sciences. Population
ecology 10) genetics, physiology, ethology, biogeography,
taxonomy, and demography.

A) Global cycle, B) environment, C) involves, D) a small portion, E) the total,
F) to evaluate, G) be solved, H) the diversity, 1) aquatic, J) including

4.3. I'pamMaTryH1 3aBAaHHS 10 MOJIYJIbHOI KOHTPOJIBHOI poOoTH Moyt 3M-I13.

Module control work Ne3
[2, c. 26 — 28], [3, c. 30 — 40]
I. Grammar Test (Yacu I'pynu Perfect)

Put the right form of the verb:
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1. Next month I (to know) Rick for twenty years. [2, c. 27-28], [3, c. 38 — 40]

2. Alan and Chloe are both down with the flu. Thank God I (not to caught) it
from them. [2, c. 26-27], [3, c. 30 — 35]

3. After they (to enter) the church, they stood quietly for a moment, adjusting
their eyes to the dim light. [2, c. 27], [3, c. 35 — 38]

4. By the time we got to the shopping center it (to close). [2, c. 27, c. 32], [3,
c. 3538, c. 47-55]

5. Don’t worry! By the time we meet again, all your problems (to solve). [2, c.
27-28, 32], [3, ¢. 30 — 35, c. 47-55]

6. A machine (to invent) which will make you invisible for 48 hours. How would
you want to spend these two days? [2, c. 26-27, c. 32], [3, c. 38 — 40, c. 47—
55]

7. You are a human dynamo, | (to see) never you waste a minute. [2, c. 26 — 27],
[3, c. 30 — 35]

8. The tourists hope that the tornado (to finish) before they arrive in California.
[2, c. 27-28], [3, c. 38 — 40]

9. When | came back home, my family (to have) already had dinner and were
now watching the film. [2, c. 27], [3, c. 35 — 38]

10.The 10.30 flight to Greece (to delay). [2, c. 26-27, 32], [3, c. 30 — 35, c. 47—
55]

11.The waiter served the food, which (to cook) by the best chef in Paris. [2, c. 27,
32], [3, c. 3538, c. 47-55]

12.1 hope that the report (to write) by 5 o’clock tomorrow. [2, ¢. 27-28, ¢. 32], [3,
c. 38 —40, c. 47-55]

13.You (to do) your homework by seven o’clock? [2, c. 27-28], [3, c. 38 — 40]

14.Helen got off the bus and walked into the bank when she realized that she (to
leave) her handbag on the bus. [2, c. 27], [3, c. 35 — 38]

15.1 (to be) to London this year. [2, c. 26-27], [3, c. 30 — 35]

16.They (not to finish) their work yet. [2, c. 26-27], [3, ¢. 30 — 35]

17.Your mother already (to come)? [2, c. 26-27], [3, c. 30 — 35]

18.When she got to the shop, it (to close). [2, c. 27], [3, c. 35 — 38, c. 47-55]

19.Nick (return) from office by seven o'clock. [2, c. 27], [3, c. 35 — 38]

20.We (to build) a new house by the end of the year. [2, c. 27-28], [3, c. 38 — 40]

21.She (to do) already the work. [2, c. 26 — 27], [3, c. 30 — 35]

22.1 had to buy a new pen because | (to lose) the old one. [2, c. 27], [3, c. 35—
38]

23.He (to pass) his examinations before you return from Kyiv. [2, ¢. 30 — 31], [3,
c. 38 — 40]
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24.The postman (to bring) us two letters from our relatives. [2, c. 26 — 27], [3,

c. 30— 35]
25.The last electric train (to go) when we got to the station. [2, c. 27], [3, ¢. 35—
38]

26.The expedition (to leave) for the North by April. [2, c. 30 — 31], [3, ¢. 38 —40]

27.1 (to wash) just the dishes. [2, c. 26 — 27], [3, ¢. 30 — 35]

28.After | (to leave) for work | remembered that | (to forget) to ring you up. [2,
c. 27], [3, c. 35— 38]

29.1 (to give) the final answer by three o'clock. [2, c. 30 — 31], [3, c. 38 — 40]

30.We (to write) a long dictation. [2, c. 26 — 27], [3, c. 30 — 35]

31.We (to collect) our things and got into the bus before it started raining. [2,
c. 27], [3, c. 35— 38]

32.She (to look) up the new words in the dictionary before you come. [2, ¢. 30 —
31], [3, c. 38 — 40]

33.Ann (to leave) just the house. [2, c. 26 — 27], [3, c. 30 — 35]

34.What you (to do) before you left the house? [2, c. 27], [3, c. 35 — 38]

35.We (to leave) the Institute by five o'clock tomorrow. [2, c. 30 — 31], [3, c. 38
—40]

36.The children (to clean) already the room. [2, c. 26 — 27], [3, c. 30 — 35]

37.By what time you (to do) your homework yesterday? [2, c. 27], [3, ¢. 35 — 38]

38.1 (to return) the book to the library by this time on Sunday. [2, c. 30 — 31], [3,
c. 38 - 40]

39.1 (to show) him my collection of stamps. [2, c. 26 — 27], [3, c. 30 — 35]

40.What did you do after you (to do) your homework? [2, c. 27], [3, c. 35 — 38]

41.The girls (to do) the room before their mother comes home. [2, ¢. 30 — 31], [3,
c. 38 — 40]

42.The teacher (to open) the window to air the room. [2, c. 26 — 27], [3, ¢. 30 —
35]

43.What you (to do) before you went to bed? [2, c. 27], [3, c. 35 — 38]

44.My elder brother (to translate) the text by 10 o'clock. [2, ¢. 30 — 31], [3, c. 38
—40]

45.The mother (not to prepare) breakfast yet. [2, c. 26 — 27], [3, c. 30 — 35]

46.Where you (to live) before your family moved to this place? [2, c. 27], [3,
c. 35-38]

47.We (to prepare) supper before you come from work. [2, ¢. 30 — 31], [3, c. 38
—40]

48.1 (not to do) my home task yet. [2, ¢. 26 — 27], [3, ¢. 30 — 35]

49.Last week we discussed the performance which we (to see) at our drama
theatre. [2, c. 27], [3, ¢. 35— 38]

50.1 (to write) the report by this time tomorrow. [2, c. 30 — 31], [3, ¢. 38 — 40]
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51.Ann (not to be) to Kyiv yet. [2, ¢c. 26 — 27], [3, ¢. 30 — 35]

52.The mother (to prepare) dinner by 3 o'clock. [2, c. 27], [3, c. 35— 38]

53.The pupils of our form (to pass) the exam in English by 12 o'clock. [2, c. 30 —
31], [3, c. 38 — 40]

54.She (not to learn) this poem by heart yet. [2, c. 26 — 27], [3, ¢. 30 — 35]

55.My friend told me a lot of interesting he (to see) in London. [2, c. 27], [3,
c. 35— 38]

56.The teacher (to check) up our tests by that time. [2, ¢. 30 — 31], [3, c. 38 — 40]

57.1 (not to finish) my work yet. [2, c. 26 — 27], [3, c. 30 — 35]

58.She showed me the new dress she (to sew) herself. [2, c. 27], [3, c. 35— 38]

59.The expedition (to leave) for the South by September. [2, c. 30 — 31], [3, c. 38
— 340]

60.She (to write) the test already. [2, c. 26 — 27], [3, ¢. 30 — 35]

[1, c. 17]
I1. Fill the gaps:

Nitrogen is also required by all organisms but cannot be used by most in
the gaseous form. Nitrogen fixation, the conversion of N2 gas into a biologically

1) , occurs in some species of bacteria and cyanobacteria or may be
caused by lightning.
Atmospheric gases are important in 2) the climate and the

light environment. Absorption of electromagnetic radiation by the atmosphere
determines the spectrum of light reaching the Earth's surface. Absorption and
reflectance of infrared radiation by 3) such as C02 and water vapor
regulate temperature.

Among other environmental factors determining the range and distribution
and form of organisms are mechanical stimuli such as wind or water

4) , and the presence of metals, inorganic nutrients, and toxins in
the air, soil, or food.
The biotic environment of an individual is 5) of members of

the same or other species. Intraspecific interactions involve the need to breed with
other individuals, to gain protection through living in a group, and to compete for
6) such as food, light, nutrients, and space.

Humans alter their environment in ways that exceed the impact of all other
organisms. For example, the 7) of greenhouse gases into the
atmosphere contributes to 8) over the entire planet. This in turn has
Impacts on the distribution of all other species. The release of pollutants into the
environment brings organisms into contact with stresses to which they were not
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9) exposed. This the evolution of new varieties, eventually perhaps
new 10) , adapted to the polluted environments.

A) Greenhouse gases, B) previously, C) resources, D) made up, E) movement,
F) species, G) determining, H) release, 1) useful form, J) climate alterations.

4.4. I'pamaTuyHi 3aBJaHHS 10 MOJYJIbHOI KOHTPOJIBHOI poboTu Moayns 3M-114.

Module control work Ne4

[2, c. 24 -26], [3, c. 40 — 44]

I. Grammar Test (Uacu I'pynu Perfect Continuous)
Put the right form of the verb:

1. Afine rain (to fall) steadily since six o’clock and there is a dark mist on the
river. [2, c. 28-30], [3, c. 40 — 43]

2. Andrew, who is English, (to live) in New York for seven years when we
met. [2, c. 30], [3, c. 43 — 44]

3. He said that he (to wait) his article for 3 days when I arrived. [2, c. 30], [3,
c. 43 — 44]

4. He said that he (to write) a letter for 2 hours when | came. [2, c. 30], [3,
C. 43 —44]

5. Emma, who (to listen) attentively, knew with absolute certainty that he was
speaking the truth. [2, c. 30], [3, c. 43 — 44]

6. Nextyear I (to live) in Kyiv for thirty years. [2, c. 30-31]

7. She (choose) some dairy products: butter, cheese, milk and cream for 20
minutes. [2, c. 28-30], [3, c. 40 — 43]

8. A surgeon felt tired because he (to work) hard all day. [2, c. 30], [3,
C. 43 —44]

9. My father (to work) at this theatre for twenty years by 2021. [2, c. 30-31]

10.My mother (to read) a cookbook for a month. [2, c. 28-30], [3, c. 40 — 43]

11.1 (to wait) for a bus for half an hour before it arrived. [2, c. 30], [3, c. 43 -
44]

12.She (to wait) for this comedy for a month before it is on the repertoire of
the theatre. [2, c. 30-31]

13.A chemist (to make) a medicine for an hour before it was ready. [2, c. 30],
[3, c. 43 — 44]
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14.We (to talk) about fruits, which are sold at the greengrocery shop for 15
minutes. [2, c. 28-30], [3, c. 40 — 43]

15.At the market my mother (to choose) potatoes, carrots, beetroots, onion,
tomatoes, cucumbers and cabbage for an hour. [2, c. 28-30], [3, c. 40 — 43]

16.His father (to work) at this hospital for 25 years before he retired. [2, c.
30], [3, c. 43 —44]

17.1 (to work) on this report about our famous actors for two hours before my
sister comes. [2, ¢. 30-31]

18.We (to play) tennis for three hours already yesterday when it started raining.
[2, c. 30], [3, c. 43 — 44]

19.Tom (to read) books about the theatre for several years before he becomes
an expert. [2, c. 30-31]

20.1 (to look for) this journal since the very morning. [2, c. 28 — 30], [3, c. 40
—43]

21.She (to write) a composition for an hour already. [2, c. 28 — 30], [3, c. 40 —
43]

22.The young man (to work) at the laboratory for two years before he decided
to enter the University. [2, c. 30], [3, c. 43 — 44]

23.How long your sister (to study) at school? [2, c. 28 — 30], [3, c. 40 — 43]

24.1 (to read) an interesting book since | returned home. [2, c. 28 — 30], [3,
c. 40 —43]

25.We (to pack) up our things for two hours when it was time to go to the
railway station. [2, c. 30], [3, c. 43 — 44]

26.How long you (to do) these exercises? [2, c. 28 — 30], [3, c. 40 — 43]

27.My brother (to work) at English translation since the very morning. [2,
c. 28 -30], [3, c. 40 — 43]

28.The scientist (to work) at the experiment for about a year before the problem
was solved. [2, c. 30], [3, c. 43 — 44]

29.1t (to rain) since the very morning? [2, c. 28 — 30], [3, c. 40 — 43]

30.He (to suffer) from a headache all day long. [2, c. 28 — 30], [3, c. 40 — 43]

31.They (to sail) for about a month when they saw a small island. [2, c. 30],
[3, c. 43 — 44]

32.Have (to live) in this town for 5 years? [2, c. 28 — 30], [3, c. 40 — 43]

33.We (to gather) mushrooms ever since sunrise. [2, c. 28 — 30], [3, c. 40 — 43]

34.1t (to snow) all day when I left home. [2, c. 30], [3, c. 43 — 44]

35.1 (to translate) this difficult article for two hours before you come. [2, ¢. 30
—31]

36.1 (to listen) to the music since 5 o'clock. [2, c. 28 — 30], [3, c. 40 — 43]

37.1 (to dust) the room for half an hour when my mother came home. [2, c. 30],
[3, c. 43 — 44]

38.He (to skate) with his friends for more than an hour before his parents come
home. [2, c. 30 — 31]
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39.My friend (to train) his dog for 3 years already. [2, c. 28 — 30], [3, c. 40 —
43]

40.She (to wait) for forty minutes before the taxi came. [2, c. 30], [3, c. 43 —
44]

41.They (to listen) to the music for some time when you ring them up. [2, c.
30 - 31]

42.The gardener (to sort) the apples since morning. [2, c. 28 — 30], [3, c. 40 —
43]

43.The girl (to listen) to the music for two hours before her brother brought her
an interesting book from the library. [2, c. 30], [3, c. 43 — 44]

44 \We (to travel) by sea for several weeks before you join us. [2, c. 30 — 31]

45.The children (to play) football since the mother came home. [2, c. 28 — 30],
[3, c. 40 —43]

46.What she (to do) for two hours when her friend came to her? [2, c. 30], [3,
C. 43 —44]

47.The young man (to make) the plan of the journey for some hours by 6
o'clock in the evening. [2, c. 30], [3, c. 43 — 44]

48.My elder brother (to play) football since the childhood. [2, c. 28 — 30], [3,
c. 40 —43]

49.She (to read) a book for an hour before her mother came home. [2, c. 30],
[3, c. 43 — 44]

50.She (to listen) to the music for 40 minutes before her brother comes home
from school. [2, c. 30 — 31]

51.The boy (to do) his homework for 2 hours already. [2, c. 28 — 30], [3, c. 40
—43]

52.How long you (to learn) English? [2, c. 28 — 30], [3, c. 40 — 43]

53.She (to listen) to the music for some time by 12 o'clock. [2, c. 30 — 31]

54.The pupils (to write) a dictation for 40 minutes. [2, c. 28 — 30], [3, c. 40 —
43]

55.How long you (to read) this book? [2, c. 28 — 30], [3, c. 40 — 43]

56.0ur family (to live) in this house for 10 years. [2, c. 30 — 31]

57.My mother (to prepare) dinner since 11 o'clock. [2, c. 28 — 30], [3, c. 40 —
43]

58.Do you play chess? How long you (to play) it? [2, c. 28 — 30], [3, c. 40 —
43]

59.They (to build) this bridge by the end of the year. [2, c. 30 — 31]

60.The girls (to watch) TV since they came home. [2, c. 28 — 30], [3, c. 40 —
43]
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[1, c. 16]

11. Fill the gaps:

Environment is 1) of all external factors, both biotic (living)
and abiotic (non-living), to which an organism is exposed. Biotic factors include
influences by members of the same and other species on 2) and

survival of the individual. Primary abiotic factors are light, temperature, water,
atmospheric gases, md ionizing radiation, influencing the form and
3) of the individual.

For 4) environmental factor, an organism has a tolerance
range, in which it is able to survive. The intercept of these ranges constitutes the
ecological niche of the organism. Different individuals or species have different
tolerance ranges for particular environmental factors — this variation
5) the adaptation of the organism to its environment. The ability of
an organism to modify its tolerance of certain environmental factors in response
to a change in them represents 6) of that organism.

The spectrum of electromagnetic radiation reaching the Earth's surface is
determined by the absorptive 7) of the atmosphere. Biologically,
the most important spectral range is 300-800 nanometers, incorporating
ultraviolet, visible, and infrared radiation. Visible light provides the energy
source for most forms of life. Light absorbed by pigment molecules (chlorophylls
and carotenoids) is converted into chemical energy through 8)
Light availability is especially important in determining the distribution of plants
Photosynthetic organisms can 9) within a wide range of light
intensities. Full sunlight in the tropics is around 2000 photons. Photosynthetic
organisms have survived in 10) ¢ where the mean light is as low as 0.005% of
this value.

A) The plasticity, B) represents, C) the sum, D) photosynthesis, E) exist, F) each,
G) the development, H) locations, 1) function, J) properties

4.5. I'paMaTuyHi 3aBIaHHS 10 MOJIYJIbHOI KOHTPOJIBHOI po0oTH Moyiss 3M-II5.
Module control work Ne 5

[2, c. 38 —42], [3, c. 85—100]
I. Grammar Test (The Infinitive)

Put the right form of the Infinitive:
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1. There is nothing (to done). [2, c. 38 — 42], [3, c. 85 — 100]

2. You'll have to attend preparatory courses to be able (to enter) the university.
[2, c. 38 —42], [3, c. 85— 100]

3. He is said (to leave) school. [2, c. 38 — 42], [3, ¢. 85 — 100]

4. What is your opinion about the steps (to take) in order to help the pupils in
their studies? [2, c. 38 —42], [3, c. 85— 100]

5. They must (to argue) about the right occupation to choose. [2, c. 38 — 42], [3,

c. 85 -100]

(To teach) is a responsible task. [2, c. 38 — 42], [3, c. 85 — 100]

My sister is glad (to teach) English. [2, c. 38 — 42], [3, c. 85— 100]

I'm sorry (not to help) you. [2, c. 38 — 42], [3, c. 85 — 100]

It seems (to rain) since the very morning. [2, c. 38 — 42], [3, c. 85— 100]

O They are glad (to be taught) by such outstanding teachers. [2, c. 38 — 42], [3,

c. 85-100]

11. I'm sure very soon | shall be sorry (not to speak) with you about it. [2, ¢c. 38 —
42], [3, c. 85— 100]

12.When she felt worse, she was sorry (not to consult) the doctor. [2, c. 38 —42],
[3, c. 85 -100]

13.1 know that when | return to town in autumn, my friend is sure (to work) at
her thesis. [2, ¢. 38 —42], [3, c. 85— 100]

14.0ur teacher is glad (to teach) such clever students. [2, c. 38 — 42], [3, c. 85 —
100]

15.She is said (to write) a new book. [2, c. 38 — 42], [3, c. 85— 100]

16.Why didn't you (to come) yesterday? [2, c. 38 —42], [3, c. 85— 100]

17.1 am sorry (to wait for) you for the whole evening. [2, c. 38 — 42], [3, ¢. 85 —
100]

18.1 intended (to show) you my collection of snapshots. [2, ¢. 38 — 42], [3, c. 85
—100]

19.They are said (to be) rather good. [2, c. 38 — 42], [3, c. 85— 100]

20. Tomorrow I shall be busy: I expect (to read) for the examination all day long.
[2, c. 38 —42], [3, c. 85— 100]

21.The examination is said (to be) very difficult. [2, c. 38 — 42], [3, c. 85 — 100]

22.0ur students are very glad (to give) consultations. [2, c. 38 — 42], [3, c. 85 —
100]

23.I'm so glad (to give) the necessary explanations at the last consultation. [2, c.
38 —42], [3, c. 85— 100]

24.He ( to know) to speak English well. (SIC) [2, ¢.40-42], [ 3, ¢.94-97].

25.She is said (to work) much. [2, c. 38 — 42], [3, c. 85— 100]

26.My father is considered (to make) an extraordinary discovery. [2, c. 38 —42],
[3, c. 85 -100]

'—‘“390.\'.07
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27.This man is believed (to achieve) much in the field of science. [2, ¢. 38 —42],
[3, c. 85 —100]

28.She is sure (to come). [2, c. 38 — 42], [3, c. 85— 100]

29.He didn't seem (to hear) the news. [2, c. 38 — 42], [3, c. 85— 100]

30.My friend happened (to be) at home. [2, c. 38 — 42], [3, c. 85— 100]

31.She didn't prove (to be) a well-read person. [2, c. 38 — 42], [3, c. 85— 100]

32.The mother is certain (to return) soon. [2, c. 38 — 42], [3, c. 85 — 100]

33.She is not likely (to do) it. [2, ¢.40-42], [ 3, ¢.94-97].

34.Sandra managed (to find) a solution. [2, c. 38 —42], [3, c. 85 — 100]

35.His language skills seem (to improve). [2, c. 38 — 42], [3, ¢. 85— 100]

36.Andrew hates (to get up) early in the morning. [2, c. 38 —42], [3, c. 85 —100]

37.Dave agreed (to meet) his friends at the café tomorrow evening. [2, C. 38 —
42], [3, c. 85— 100]

38.1 can’t stand (to live) in the countryside. [2, c. 38 — 42], [3, c. 85— 100]

39.What are you going to do after (to finish) school? [2, c. 38 — 42], [3, c. 85 —
100]

40.Mike warned his sister not (to come) back late. [2, c. 38 —42], [3, c. 85 — 100]

41.We usually learn (to read) at school. [2, c. 38 — 42], [3, c. 85 — 100]

42.Ann didn’t know what (to answer). [2, c. 38 —42], [3, c. 85— 100]

43.George practices (to swim) twice a week. [2, c. 38 —42], [3, c. 85 — 100]

44.My dad gave up (to smoke) a long time ago. [2, c. 38 —42], [3, c. 85 —100]

45.1 would like (to visit) Brazil this summer. [2, c. 38 —42], [3, c. 85 —100]

46.Ken failed (to make) new friends at school. [2, c. 38 —42], [3, c. 85— 100]

47.Have you ever thought of (to grow) your own fruit and vegetables? [2, c. 38 —
42], [3, c. 85 - 100]

48.We arranged (to return) back home on 10 of June. [2, c. 38 — 42], [3, c. 85 —
100]

49.1 happened (to wait) for the bus when the accident happened. [2, c. 38 — 42],
[3, c. 85 —100]

50.You must (to joke). [2, c. 38 —42], [3, c. 85— 100]

51.We (to wait) for ages. [2, c. 38 —42], [3, c. 85 - 100]

52.1f you had run a bit faster, you would (to win). [2, c. 38 —42], [3, c. 85 — 100]

53.1 am glad (to hear) it. [2, c. 38 — 42], [3, c. 85 — 100]

54.He seems (to write) much. [2, c. 38 — 42], [3, c. 85 — 100]

55.He is reported (to write) a new novel. [2, ¢. 38 — 42], [3, ¢. 85— 100]

56.She ought (to tell) the truth. [2, c. 38 —42], [3, c. 85— 100]

57.This house seems (to rebuild) already. [2, c. 38 —42], [3, c. 85 — 100]

58.1 don’t (to understand) this text. [2, c. 38 —42], [3, c. 85— 100]

59.1 happened (to ask) her about you when you came in. [2, ¢. 38 —42], [3, c. 85
—100]
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60.He seems (to ask) wrong people. [2, c. 38 — 42], [3, c. 85— 100]

[1, c. 45-46]
I1. Fill the gaps:
The Ecosystem

The ecosystem is defined as a unit of biosphere which has the structural
and functional aspects. It consists of the community and physical environment

including interactions between them. It was in the year 1935 by the
Tansley.
The can be temporary which includes the rain water pond. It

can be permanent also. They may be natural which includes the rivers. They are
also manmade which includes the aquarium. It can be small which includes the
pond or a drop of water. It can be large which includes the ocean. There is a small
ecosystem own as the micro ecosystem. The distinct community consisting of
number of species forms an ecosystem.

The ecosystem consists of two components which are known as the biotic
and abiotic. The biotic component includes the autotrophs, heterotrophs and the
reducers. They form the living members of an ecosystem. These
are related by the food mainly. The food transfers the matter and energy to the
outside world. The autotrophs are also known as the producers. They make the
food by the process of photosynthesis from the . They not only make
their food but also r the other organisms. They absorb the energy from sun and
convert into the chemical energy. They release oxygen. The organic compounds
release energy during . They are also referred as the transducers as
they can one form of energy to the other form. The organic compounds
which are formed play an important role in of bodies and help in the
release of energy. They maintain the ratio of gases which help to maintain the
balance of . The heterotrophs are not able to make their own food. It
includes the zooplankton, larvae, bugs, higher animals and vertebrates. They are
also as the consumers. They are of different types. Basically, they
are of herbivores and carnivores type.

A) ecosystem, B) introduced, C) components, D) respiration, E) the building,
F) known, G) different, H) inorganic materials, I) nature, J) convert.
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4.6. I'pamaTryH1 3aBJAaHHS 10 MOAYJIBHOI KOHTPOJBHOI poboTu Moyt 3M-116.

Module control work Ne 6
[2, c. 47 —50], [3, c. 113 — 123]
I. Grammar Test (The Gerund)
Put the right form of the Gerund:

1. I don't like (to sit) in a room in such weather. [2, c. 47 —50], [3, c. 113 — 123]

2. When will the (sit) of the literary circle be held? [2, c. 47 — 50], [3, c. 113 —
123]

3. You can find the sender's address at the (begin) of the letter. [2, c. 47 — 50],

[3,c. 113 —123]

(To walk) is very useful. [2, c. 47 —50], [3, c. 113 — 123]

You may finish this discussion after my (to leave). [2, ¢. 47 —50], [3, c. 113 —

123]

6. After (to finish) their homework the children went out to play. [2, ¢. 47 — 50],

[3,c. 113 —123]

The telephone is (to ring). [2, c. 47 — 50], [3, ¢. 113 — 123]

8. What do you mean by (to come) to the lesson without reading the story? [2,
c. 47 -50], [3, c. 113 -123]

9. On every floor of the hotel there are rooms for (to wash). [2, c. 47 — 50], [3,
c. 113 -123]

10.They enjoyed (to sit) in the sun and (to bath) in the river. [2, c. 47 — 50], [3,
c. 113 -123]

11.There is no hope of our (to get) home before 7 o'clock. [2, c. 47 — 50], [3,
c. 113 -123]

12.He returned home after a year's absence, it was a happy (to meet). [2, c. 47 —
50], [3, c. 113 - 123]

13.1 like (to invite) friends to my house. [2, c. 47 — 50], [3, c. 113 — 123]

14.The mother got angry (to see) such a great disorder. [2, c. 47 — 50], [3, c. 113
—123]

15.She was proud (to see) this famous writer. [2, c. 47 — 50], [3, c. 113 — 123]

16.1've no objections (to be asked) about it. [2, c. 47 — 50], [3, c. 113 — 123]

17.She's quite sure of (to ask) him about his travel. [2, c. 47 — 50], [3, c. 113 —
123]

18.1 do not like (to attract). [2, c. 47 —50], [3, c. 113 — 123]

19.Soames had the peculiar to (feel) of having overdone his own honesty. [2,
c. 47 -50], [3, c. 113 - 123]

S

~
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20.At every school she went she learned (to draw), besides being taught by her
father at home. [2, c. 47 —50], [3, c. 113 — 123]

21.1t is historically true. I loathe (to have) to admit it. [2, c. 47 — 50], [3, c. 113 —
123]

22.1t's no good to (try) to keep him here. [2, c. 47 — 50], [3, c. 113 — 123]

23.She kept on (to laugh) at father. [2, c. 47 —50], [3, c. 113 — 123]

24.She stopped (to cry), looked up, said nothing. [2, c. 47 —50], [3, ¢c. 113 - 123]

25.1 like (to invite) friends to my house. [2, c. 47 — 50], [3, c. 113 —123]

26.The mother got angry (to see) such a great disorder. [2, c. 47 — 50], [3, c. 113
—123]

27.1 have no objections to (to ask) about it. [2, c. 47 — 50], [3, c. 113 — 123]

28.(To travel) is a very pleasant thing. [2, c. 47 — 50], [3, ¢. 113 — 123]

29.1 don’t like the idea of (to walk) in the rain. [2, c. 47 — 50], [3, ¢. 113 — 123]

30.After (to leave) her umbrella in the hall, she entered the living-room. [2, c. 47
—50], [3, c. 113 - 123]

31.What do you mean by (to come) to the lesson without (to read) the story? [2,
c. 47 -50], [3, c. 113 -123]

32.0n every floor of the hotel there are rooms for (to wash). [2, c. 47 — 50], [3,
c. 113 -123]

33.He felt better for (to write) the letter. [2, c. 47 — 50], [3, ¢. 113 — 123]

34.She enjoyed (to give) parties. [2, c. 47 —50], [3, c. 113 — 123]

35.1 remember laughing aloud, and the laugh (to carry) by the wind away from
me. [2, ¢. 47 - 50], [3, ¢. 113 —123]

36.Nobody can go on (to live) without some belief. [2, c. 47 — 50], [3, c. 113 —
123]

37.1t is awfully hard work (to do) nothing. [2, c. 47 —50], [3, c. 113 — 123]

38.My friend is fond of (to swim). [2, ¢. 47 —50], [3, ¢. 113 — 123]

39.At every school she went she learned (to draw) besides (to teach) by her father
at home. [2, c. 47 —50], [3, c. 113 — 123]

40.1 like (to make) people happy. [2, c. 47 —50], [3, c. 113 — 123]

41.No one could pass in or out without (to see). [2, c. 47 —50], [3, c. 113 — 123]

42.She denies (to speak) with him. [2, ¢. 47 — 50], [3, c. 113 — 123]

43.1t is no use (to tell) like that to me. [2, c. 47 —50], [3, c. 113 — 123]

44.He turned at (to hear) her footsteps. [2, c. 47 —50], [3, c. 113 - 123]

45.He has no right to come bothering you and your father without (to be invited).
[2, c. 47 —50], [3, c. 113 — 123]

46.Tom went on (to whitewash). [2, c. 47 —50], [3, ¢. 113 — 123]

47.He did not remember (to see) in that room. [2, c. 47 —50], [3, c. 113 — 123]

48.The child deserves (to praise). [2, c. 47 — 50], [3, c. 113 — 123]

49.1t looks like (to rain). [2, c. 47 — 50], [3, ¢. 113 — 123]

50.1 hope you will forgive me (to disturb) you. [2, ¢c. 47 — 50], [3, ¢. 113 — 123]

51.1 said something about my clock (to be) slow? [2, c. 47 —50], [3, c. 113 -123]

52.1 do not remember (to hear) the legend before. [2, c. 47 —50], [3, c. 113 — 123]
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53.Are you quite sure of those words (to refer) to my brother? [2, c. 47 — 50], [3,
c. 113 -123]

54.Do not forget (to shut) the windows when you leave home. [2, c. 47 — 50], [3,
c. 113 -123]

55.1 am fond of (to give) presents. [2, c. 47 — 50], [3, c. 113 — 123]

56.1 am fond of (to be given) presents. [2, c. 47 —50], [3, ¢c. 113 — 123]

57.You are responsible for (to give) him that job. [2, c. 47 —50], [3, c. 113 —123]

58.1 am sorry for (to be given) such a small scholarship. [2, ¢. 47 —50], [3, c. 113
—123]

59.0ne can (to learn) a lot by reading. [2, c. 47 — 50], [3, ¢. 113 —123]

60.She (to be surprised) at my coming. [2, c. 47 —50], [3, ¢. 113 — 123]

[1, c. 55-56]
I1. Fill the gaps:

Global warming looms, in many people’s minds, as one of
threats facing the planet. Over the past 20 years researchers have gathered
evidence that the burning of fossil fuels is causing temperatures to rise. However,
the exact pace of global warming, as well as the size of mankind’s to
the warming trend, remain uncertain. Aside from these issues is the question of
precisely how greenhouse-gas emissions should be abated, assuming that they
need to be reduced at all. In a new paper for the Copenhagen Consensus project,
William Cline of the Centre for Global Development and the Institute for
International Economics these topics.

Rising temperatures are capable of causing great economic harm-though a
lot depends not just on how big future rises prove to be but also on how quickly
they happen. One estimate is that a doubling of atmospheric of
carbon dioxide would cost between 1% and 2.5% of global GDP, depending on
what kinds of damage you include.

One study from America’s Environmental Protection Agency
the possible costs. Around a quarter of the total economic damage would fall on
farmers, who could no longer use some lands. Around a sixth of the total cost
would come in the form of increased cooling costs for homes and offices (net of
the reduced costs of heating). Rising sea levels, damage to drinking-water

and heatwaves would each account for 10%. Deforestation and rising
ozone pollution together would another 10%. And the economic
estimates exclude the “amenity value” — the price people would be willing to pay
to avoid rising for reasons of convenience.

Yet totting up such is far from straightforward. That is because
applying cost-benefit analysis to climate change is harder than for most public-
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policy - many of the benefits will not be realized for decades or
centuries, while the costs of abatement will be felt today.

A) listed, B) examines, C) supplies, D) figures, E) the biggest, F) questions, G)
add, H) temperatures, 1) contribution, J) concentrations.

4.7. I'pamaTuyHi 3aBJaHHs 10 MOAYJIbHOI KOHTPOJIBHOI poboTH Moy 3M-II7.

Module control work Ne7

[2, c. 42 — 47], [3, ¢. 100 — 113]

I. Grammar Test (The Participle)
Put the right form of the Participle:

1. Is this seat (to take)? [2, c. 42 — 47], [3, c. 100 — 113]

2. The man (to stand) at the door helped the old woman to get off the bus. [2,
c.42—47],[3,c. 100 —113]

3. (To see) that he was late he took a taxi. [2, c. 42 — 47], [3, c. 100 — 113]

What is this instrument (to use) for? [2, c. 42 — 47], [3, c. 100 — 113]

5. Watches and cameras (to make) in Japan are very popular all over the world.
[2, c. 42 —47], [3, c. 100 — 113]

6. (To take) the child by the hand she hurried to the kindergarten. [2, c. 42 — 47],
[3, c. 100 — 113]

7. (To receive) a letter, | usually answer it at once. [2, c. 42 — 47], [3, c. 100 —
113]

8. While (to prepare) for an examination, he always studies in the reading-hall.
[2, c. 42 —47], [3, c. 100 — 113]

9. While (correct) the students' test-papers, the teacher underlined the mistakes
with a red pencil. [2, c. 42 — 47], [3, c. 100 — 113]

10. (To correct) by the teacher regularly, the exercises are very useful to the
students. [2, c. 42 — 47], [3, c. 100 — 113]

11. (To correct) the test-papers, the teacher returned them to the students. [2,
c. 42 —47],[3,c. 100 — 113]

12.(To be corrected) by the teacher yesterday, the students' test-papers will be
returned to them today. [2, c. 42 — 47], [3, c¢. 100 — 113]

13.(To hear) the sounds of music, they stopped talking. [2, ¢c. 42 —47], [3, ¢. 100 —
113]

B
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14.This is a church (to build) many years ago. [2, c. 42 — 47], [3, c. 100 — 113]

15.While (to examine), the boy could not help crying. [2, c. 42 — 47], [3, c. 100 —
113]

16.Where is the boy (to throw) the stone? [2, c. 42 — 47], [3, c. 100 — 113]

17.(To prescribe) the medicine, the doctor went away. [2, ¢. 42 —47], [3, ¢. 100 —
113]

18.(To show) the wrong direction, the travelers soon lost their way. [2, c. 42 —
47], [3, c. 100 — 113]

19.Time (to permit), we will go for a walk. [2, c. 42 — 47], [3, c. 100 — 113]

20.The treaty (to sign), trade was at once resumed. [2, c. 42 — 47], [3, c. 100 —
113]

21.The day (to be) finer and a little warmer than the previous one, he went out
again. [2, ¢c. 42 - 47], [3, ¢. 100 — 113]

22.(Not to understand) the rule, he made many mistakes. [2, c. 42 — 47], [3,
c. 100 —113]

23.(To finish) the book, | had a holiday. [2, c. 42 — 47], [3, ¢. 100 — 113]

24.While (to understand) your problem, I don’t know how I can help. [2, c. 42 —
471, [3, c. 100 — 113]

25.(To find) only in the Andes, the plant is used by local people to treat skin
diseases. [2, c. 42 — 47], [3, c. 100 — 113]

26.(To wait) six weeks for the washing machine to be delivered, | decided to
cancel the order. [2, c. 42 — 47], [3, c. 100 — 113]

27.A line (to see) through this crystal looks double. [2, c. 42 — 47], [3, c. 100 —
113]

28.(To open) her eyes, the baby began to cry. [2, c. 42 — 47], [3, c. 100 — 113]

29.(Not to understand) the rules, | found the cricket match boring. [2, c. 42 — 47],
[3, c. 100 — 113]

30.(To be) unemployed, Ben spent a lot of time filling in job application forms.
[2, c. 42 —47], [3, c. 100 — 113]

31.(Not to hope) to be recognized, | chose a sit in a dark corner. [2, c. 42 — 47],
[3, c. 100 — 113]

32.(To look) after carefully, this plant can live through the winter. [2, c. 42 — 47],
[3, c. 100 — 113]

33.Where is the boy (to throw) the stone? [2, c. 42 — 47], [3, ¢. 100 — 113]

34.There (to be) little time left, we took a taxi. [2, c. 42 — 47], [3, ¢. 100 — 113]

35.(To lose) the key, the boy couldn’t get into the house. [2, c. 42 — 47], [3,
c. 100 —113]

36.Peter left the room (to say) that he was in a hurry. [2, c. 42 — 47], [3, c. 100 —
113]
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37.(To think) that he was busy, | decided to call on him later. [2, c. 42 — 47], [3,
c. 100 —113]

38.(To graduate) from the university, | decided to return to my home city. [2,
c. 42 —47],[3, c. 100 — 113]

39.When (to speak) English, pay more attention to the word order. [2, c. 42 —47],
[3, c. 100 — 113]

40.(To run) across the field, | fell and hurt my ankle. [2, c. 42 — 47], [3, c. 100 —
113]

41.She stood silent, her lips (to press) together. [2, c. 42 — 47], [3, ¢. 100 — 113]

42.The moonlit road was empty, with the cool wind (to blow) in their faces. [2,
c. 42 —47],[3, c. 100 — 113]

43.He picked up the (to break) pencil. [2, c. 42 — 47], [3, c. 100 — 113]

44.\We admired the stars (to twinkle) in the sky. [2, c. 42 — 47], [3, ¢. 100 — 113]

45.(To reach) the classroom, she became the object of many questions. [2, c. 42 —
471, [3, c. 100 — 113]

46.This was (to say) as if thinking aloud. [2, c. 42 — 47], [3, c. 100 — 113]

47.When (to question) Ann kept silence. [2, c. 42 — 47], [3, c. 100 — 113]

48.The bag was (to lose) yesterday. [2, c. 42 — 47], [3, c. 100 — 113]

49.The effect of her words was (to terrify). [2, c. 42 — 47], [3, ¢. 100 — 113]

50.We heard the wheels of the dog-cart (to crash) on the gravel of the drive. [2,
c.42—47],[3,c. 100 —113]

51.She has found me (to unalter). [2, c. 42 — 47], [3, ¢. 100 — 113]

52.Presently other footsteps were heard (to cross) the room below. [2, c. 42 —47],
[3, c. 100 — 113]

53.Generally (to speak), I don't like boys. [2, c. 42 — 47], [3, ¢. 100 — 113]

54.The taxi could be seen (to wait) outside. [2, c. 42 — 47], [3, c. 100 — 113]

55.She had (to draw) room decorated. [2, c. 42 — 47], [3, c. 100 — 113]

56.Get your things (to pack). [2, c. 42 — 47], [3, c. 100 — 113]

57.The two men were heard (to descend). [2, c. 42 —47], [3, ¢. 100 — 113]

58.There was sunlight (to come) in through the shutters. [2, c. 42 — 47], [3,
c. 100 —113]

59.A cold wind swept the pavement, (to bear) a scrap of silver paper from a
chocolate box across the lamplight. [2, c. 42 — 47], [3, c. 100 — 113]

60.1 am going to Rome (to have) friends there. [2, c. 42 — 47], [3, c. 100 — 113]

64



[1, c. 66-67]
I1. Fill the gaps:
The Grand Canyon

The Grand Canyon of the Colorado River is the largest gorge in the world-
a 290-mile-long gash across the face of the Colorado Plateau in Arizona.
Rim to rim, it measures up to 18 miles across, with an average width of 10 miles;
its average depth is one mile. Within this Delaware-size area of eroded rock rise
mountains higher than any in the eastern United States and that dark walls of
gorges of years old. Agent of this scene, the Colorado River drops
2,200 feet over nearly 200 rapids as it roars through the Canyon the Gulf
of California.

Numbers, though, tell only of the canyon's story and merely hint
at the magic of its myriad hues, strata, spires and gorges. The place is more than
the sum of its parts-so much more that neither the eye nor the mind of the beholder
can more than a small part of it at one time. As John Wesley Powell,
whose party in 1869 became the first to traverse the canyon by river, wrote, “You
cannot see the Grand Canyon in one view, as if it were a changeless
from which a curtain might be lifted.”

At the canyon's bottom, a mile below the rim, the Colorado River slices
through Granite. Gorge, some of the oldest rocks visible anywhere on
the earth. Nearly two billion years old, the Vishnu schist is the gleaming black

of a once towering mountain range. Some 500 million years after it
formed, vast rifting and faulting laid it down the tilted, sediments of
the Grand Canyon Series atop schist. Ten distinct layers of sandstone, limestone,
and shale bespeak the advance and retreat of seas, the building up and
wearing down of mountains, the meandering of rivers over 600 million years.

A) encompass, B) toward, C) remnant, D) spectacle, E) millions, F) colorful,

G) ancient, H) exposing, I) northern, J) part.

4.8. I'pamMaTryHi 3aBIaHHS 10 MOIYJIBHOI KOHTPOJIBHOI poOoTH Moyt 3M-I18.

Module control work Ne8
[2, c. 59 — 60], [3, c.58 —60]
I. Grammar Test (The Conditional Sentences)

Put the right form of the verb in Conditional Sentences:
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1. If I (to be free) tomorrow, I shall join you with pleasure. [2, c. 59 — 60], [3,
c. 58 — 60]

2. If your brother (to be) here now, he will be surprised at your behaviour and |
am sure he would not approve of it. [2, c. 59 — 60], [3, ¢.58 — 60]

3. If we (to be) not writing this exercise now | should give you my pen. [2,
c. 59 - 60], [3, c.58 —60]

4. If it (to be raining) now, the children would not be running about in the
garden. [2, c. 59 — 60], [3, ¢.58 —60]

5. If the students (to work) regularly they will pass their exams. [2, ¢. 59 — 60],
[3, ¢.58 —60]

6. | would come at once, if you (to be) really ill. [2, c. 59 — 60], [3, ¢.58 —60]

7. If you | had met her I (to tell) her about it. [2, ¢. 59 — 60], [3, ¢.58 —60]

8. If I leave town I never (to tell) my people where | am going. [2, c. 59 — 60],
[3, ¢.58 —60]

9. You will get good results if you (to apply) this method of calculation. [2,
c. 59 - 60], [3, c.58 —60]

10.1f they (to find) the exact meanings of these words, they will understand the
text easily. [2, c. 59 — 60], [3, ¢.58 —60]

11.1f the wind (to be) favourable, the ship would reach the port of destination
early in the morning. [2, c. 59 — 60], [3, ¢.58 —60]

12.The results of the experiment (to be) much better if he had used the new
equipment. [2, ¢. 59 — 60], [3, ¢.58 —60]

13. (To be) the vapour cooled below its dew point, some of it would become
liquid. [2, ¢. 59 — 60], [3, c.58 —60]

14.Most lakes and rivers would dry up if they (to depend) solely upon
precipitation for their store water. [2, c. 59 — 60], [3, ¢.58 —60]

15.1f all the atmospheric moisture (to be) precipitated it would create a layer
averaging only one inch in depth over the entire globe. [2, c. 59 — 60], [3,
.58 —60]

16.1f you (not to buy) coffee, we shall drink tea. [2, c. 59 — 60], [3, ¢.58 —60]

17.1f he is free tomorrow, he certainly (to come) to our party. [2, ¢. 59 — 60], [3,
.58 —60]

18.My brother would not have missed so many lessons if he (not to hurt) his
leg. [2, ¢. 59 — 60], [3, ¢.58 —60]

19.1f my friend (to work) in my office, we should meet every day. [2, c. 59 —
60], [3, c.58 —60]

20.1f you spoke English every day, you (to improve) your language skills. [2,
c. 59 - 60], [3, c.58 —60]

21.1f you get a "five", your mother (to be) happy. [2, c. 59 — 60], [3, ¢.58 —60]

22.1f she (to return) earlier, she would have been able to see him before he left.
[2, c. 59 —60], [3, .58 —60]

66



23.1f these shoes were not too big for me, I (to buy) them. [2, c. 59 — 60], [3,
.58 -60]

24.1f you (to ring) me up, | shall tell you a secret. [2, c. 59 — 60], [3, ¢.58 —60]

25.1f you (to be) a poet, you would write beautiful poetry. [2, c. 59 — 60], [3,
.58 —60]

26.1f he did not read so much, he (not to know) English literature so well. [2,
c. 59 - 60], [3, c.58 —60]

27.1f he (to come) to our house yesterday, he would have met his friend. [2,
c. 59 —60], [3, c.58 —60]

28.1f he (not to pass) his examination, he will not get a scholarship. [2, c. 59 —
60], [3, c.58 —60]

29.1f she (not to help) me, I should have been in a very difficult situation. [2,
c. 59 —60], [3, c.58 —60]

30.My father would have more free time if he (not to read) so many
newspapers. [2, c. 59 — 60], [3, ¢.58 —60]

31.1f only you had let me know, | (to go) there immediately. [2, c. 59 — 60], [3,
.58 -60]

32.1f | were a famous singer, | (to get) a lot of flowers every day. [2, c. 59 — 60],
[3, c.58 —60]

33.1f my brother (to be) in trouble, I shall help him, of course. [2, c. 59 — 60],
[3, c.58 —60]

34.1f | don't manage to finish my report today, | (to stay) at home tomorrow. [2,
c. 59 —60], [3, c.58 —60]

35.1f she is more careful about her diet, she (not to be) so stout. [2, ¢. 59 — 60],

[3, ¢.58 —60]

36.You would not feel so bad if you (not to smoke) too much. [2, c. 59 — 60],
[3, ¢.58 —60]

37.1f he (to learn) the poem, he would not have got a bad mark. [2, ¢. 59 — 60],
[3, ¢.58 —60]

38.1f you gave me your dictionary for a couple of days, | (to translate) this text.
[2, c. 59 — 60], [3, ¢.58 —60]

39.1f | (to be) a musician, | should be very happy. [2, ¢c. 59 —60], [3, ¢.58 — 60]

40.1f Barbara (to get) up at half past eight, B would have been late for school. [2,
c. 59 - 60], [3, ¢.58 —60]

41.1f you had not put the cup on the edge of the table, it (not to break). [2, c. 59
—60], [3, ¢.58 —60]

42.1 should be very glad if he (to come) my place. [2, ¢. 59 — 60], [3, ¢.58 — 60]

43.1f he (to live) in Odessa, he would go to the sea every week. [2, ¢. 59 — 60],
[3, ¢.58 —60]

44.1f you (to go) to the theatre with us last week, you would have enjoyed the
evening. [2, ¢. 59 — 60], [3, ¢.58 —60]

45.You won't understand the rule if you (not to listen) to the teacher. [2, c. 59 —
60], [3, ¢.58 —60]
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46.1f he weren't such a bookworm, he (not to spend) so much time sitting in the
library. [2, c. 59 — 60], [3, ¢.58 —60]

47.1 should not have bought the car if my friend (not to lend) me money. [2,
c. 59 - 60], [3, c.58 —60]

48.1f he did not live in Lviv, we (not to meet) so often. [2, ¢. 59 — 60], [3, ¢.58 —
60]

49.1f he had warned me, | (to do) the work in time. [2, c. 59 — 60], [3, ¢.58 —60]

50.1f I (to have) this rare book, I should gladly lend it to you. [2, c. 59 — 60], [3,
.58 —60]

51.The dish would have been much more tasty if she (to be) a better cook. [2,
c. 59 —60], [3, c.58 —60]

52.He never (to phone) you if | hadn't reminded him to do that. [2, c. 59 — 60],
[3, ¢.58 —60]

53.Your brother (to become) much stronger if he took cold baths regularly. [2,
c. 59 —60], [3, c.58 —60]

54.1f he (to be) more courageous, he would not be afraid. [2, c. 59 — 60], [3,
.58 -60]

55.1f the fisherman had been less patient, he (not to catch) so much fish. [2,
c. 59 —60], [3, c.58 —60]

56.1f you (to put) the ice cream into the refrigerator, it would not have melted.
[2, c. 59 —60], [3, .58 —60]

57.1f I (to know) the result now, | would phone her immediately. [2, c. 59 — 60],
[3, c.58 —60]

58.1f you had let me know yesterday, | (to bring) you my book. [2, ¢. 59 — 60],
[3, ¢.58 —60]

59.1f it (to snow), the children will play snowballs. [2, ¢. 59 — 60], [3, ¢.58 —60]

60.1f I (not to know) English, I should not be able to enjoy Byron's poetry. [2,
c. 59 - 60], [3, c.58 —60]

[1, c. 81]
I1. Fill the gaps:

Here we come to the important task for in social practice and, at
the same time, to the methodological problems arising in the preparation of such
an inter-disciplinary document. It is not only matter of a 'different language’ of
different scientific methods in individual disciplines, but it sometimes
the debate on the fundamental issues of the scientific work. When has an exact
scientist the right or the duty to come out of the shell of his narrow and countless
verified laboratory to take up an attitude to an issue which is only
vaguely related to his subject, and therefore only lends itself to a
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analogy? And yet who has the right to derive such an analogy, if not the specialist
of the respective field?

Consequently, conflicts among specialists of the natural and
social sciences, where each is trying to impose the priorities of his viewpoint as
the 'nation-wide' interest. Another problem of such an interdisciplinary
Is the discussion between the analytics and synthetics in each individual scientific
discipline of groups. In social sciences as well there are experts,
specialized in some partial problems, who study the most minute details and, on
the other hand, there are also natural scientists with a broad ecological orientation
and an insight into scientific disciplines. The analytists reproach these
‘encyclopedists’ for 'knowing nothing about everything, while the synthetists
laugh at the narrow specialists for 'knowing everything about nothing. The

goes as far as the issue of 'science an non-science, where only exact
experimental work as scientific, while its processing as a basis for
decision-making is considered as non-scientific compilation.

A) experiment, B) both, C) occur, D) several, E) discussion, F) is considered,
G) concerns, H) science, I) cooperation, J) remote.

4.9. I'pamaTuyHi 3aBJaHHS 10 MOAYJIBHOI KOHTPOJIBHOI poboTr Moy 3M-I19.

Module control work Ne 9
[2, c. 61 —-62], [3, c. 44 - 47]
I. Grammar Test (The Indirect speech)

Put the right form of the verb in the Indirect Speech:

=

| knew they (to wait) for me at the metro station and | decided to hurry. [2,

c.61-62], [3, c. 44 — 47]

2. |l didn't know that you already (to wind) up the clock. [2, c. 61 —62], [3, c. 44 —
47]

3. | was afraid that the little girl (not to be) able to unlock the front door and (to
go) upstairs to help her. [2, c. 61 —62], [3, c. 44 — 47]

4. He says that he (to know) the laws of the country. [2, c. 61 — 62], [3, c. 44 —
47]

5. Sarie understood why Lanny (not to come) the previous evening. [2, c. 61 —
62], [3, c. 44 — 47]

6. She asked me whether | (to remember) the legend about a faithful lion. [2,

c.61-62], [3, c. 44 — 47]
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7. He understood that the soldiers (to arrest) him. [2, c. 61 — 62], [3, c. 44 — 47]

8. He could not understand why people (not to want) to take water from that well.
[2, c. 61 —62], [3, c. 44— 47]

9. | suppose they (to send) a dog after the burglar immediately. [2, c. 61 — 62],
[3, c. 44 — 47]

10.He said he (to leave) tomorrow morning. [2, c. 61 — 62], [3, c. 44 — 47]

11.She says she already (to find) the book. [2, c. 61 — 62], [3, c. 44 — 47]

12.He stopped and listened: the clock (to strike) five. [2, c. 61— 62], [3, c. 44 —
47]

13.She said she (can) not tell me the right time, her watch (to be) wrong. [2,
c.61-62], [3, c. 44— 47]

14.1 asked my neighbour if he ever (to travel) by air before. [2, c. 61 — 62], [3,
c. 44 — 47]

15.The policeman asked George where he (to run) so early. [2, c. 61— 62], [3,
c. 44 — 47]

16.The delegates were told that the guide just (to go) out and (to be) back in ten
minutes. [2, c. 61 — 62], [3, c. 44 — 47]

17.My friend asked me who (to play) the piano in the sitting room. [2, c. 61 — 62],
[3, c. 44 — 47]

18.He said he (to come) to the station to see me off. [2, c. 61 — 62], [3, c. 44 — 47]

19.1 was sure he (to post) the letter. [2, c. 61 — 62], [3, c. 44 — 47]

20.1 think the weather (to be) fine next week. [2, c. 61 — 62], [3, c. 44 — 47]

21.1 knew that he (to be) a very clever man. [2, c. 61 — 62], [3, c. 44 — 47]

22.1 want to know what he (to buy) for her birthday. [2, c. 61— 62], [3, c. 44 —

47]
23.1 asked my sister to tell me what she (to see) at the museum. [2, c. 61 — 62],
[3, c. 44 —47]

24.He said he (to stay) at the "Ritz" Hotel. [2, c. 61 — 62], [3, c. 44 — 47]

25.They realized that they (to loose) their way in the dark. [2, c. 61 — 62], [3,
c. 44 — 47]

26.He asked me where | (to study). [2, c. 61 — 62], [3, c. 44 — 47]

27.1 thought that | (to finish) my work at that time. [2, c. 61 — 62], [3, c. 44 — 47]

28.He says he (to work) at school two years ago. [2, c. 61 — 62], [3, c. 44 — 47]

29.Victor said he (to be) very busy. [2, c. 61 —62], [3, c. 44 — 47]

30.Tom said he (to go) to see the doctor the next day. [2, ¢c. 61 —62], [3, c. 44 —
47]

31.He told me he (to be) ill. [2, c. 61 —62], [3, c. 44 — 47]

32.He told me he (to read) that book last week. [2, c. 61 — 62], [3, c. 44 — 47]

33.They told me that Tom (not to come) to school the day before. [2, c. 61 — 62],
[3, c. 44 — 47]

34.1 told my sister that she (must) catch cold. [2, c. 61 —62], [3, c. 44 — 47]

35.She told me she (to catch) cold. [2, c. 61 — 62], [3, c. 44 — 47]
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36.He said that while crossing the English Channel they (to stay) on deck all the
time. [2, c. 61 — 62], [3, . 44 — 47]

37.The woman said she (to feel) sick while crossing the Channel. [2, c. 61 — 62],
[3, c. 44 — 47]

38.She said she (to feel) bad that day. [2, c. 61 — 62], [3, c. 44 — 47]

39.The old man told the doctor that he (to have) pain in his right side. [2, c. 61 —
62], [3, c. 44 — 47]

40.He said he just (to be examined) by a good doctor. [2, c. 61 — 62], [3, c. 44 —
47]

41.He said (not to come) to school until Monday. [2, c. 61 —62], [3, c. 44 — 47]

42.The man said he (to spent) a month at a health resort. [2, c. 61 —62], [3, c. 44 —
47]

43.He said that his health greatly (to improve) since then. [2, c. 61— 62], [3,
c. 44 — 47]

44.She said that her brother (to play) chess with her grandfather. [2, c. 61 — 62],
[3, c. 44 — 47]

45.George said it (to be) very difficult to play that role. [2, c. 61 — 62], [3, c. 44 —
47]

46.He asked why there (to be) so few people in the street. [2, c. 61 — 62], [3,
c. 44 — 47]

47.The man asked the boy if he (to know) where he lived. [2, c. 61— 62], [3,
c. 44 — 47]

48.The woman told him (not to worry) and go home quietly. [2, c. 61 — 62], [3,
c. 44 — 47]

49.She said that she (to sleep) in the open air. [2, c. 61 — 62], [3, c. 44 — 47]

50.She asked me why | (to tell) her the truth. [2, c. 61 — 62], [3, c. 44 — 47]

51.She asked me if | (to see) him before. [2, c. 61 — 62], [3, c. 44 — 47]

52.She said that she (to come) and see us on Friday if that was all right. [2, c. 61 —
62], [3, c. 44 — 47]

53.She promised me that she (to finish) writing the report by the time you get
here. [2, c. 61 — 62], [3, . 44 — 47]

54.He agreed that it (to be) a very difficult time for all of them. [2, c. 61 — 62],
[3, c. 44 — 47]

55.He told me that I (to work) too hard and | (to take) more time off. [2, c. 61 —
62], [3, c. 44 — 47]

56.She said that her new computer (to make) a lot of difference to her. [2, c. 61 —
62], [3, c. 44 — 47]

57.He said he (to take) many photographs while travelling in the Caucasus. [2,
c.61-62], [3, c. 44— 47]

58.He said that he (to come) to see us on Sunday. [2, c. 61 —62], [3, c. 44 — 47]

59.He said it (to do) him a lot of good. [2, c. 61 — 62], [3, c. 44 — 47]

60.He said he (to feel) better then. [2, c. 61 — 62], [3, c. 44 — 47]
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[1, c. 92-93]

I1. Fill the gaps:

Water in Ukraine is being used mainly inefficiently, non-productive
consumption of water increase volume of water resources to be used
decreases due to pollution and . Practically all surface water sources
and ground waters are polluted. Main substances, which cause pollution, —
compounds of nitrogen and phosphorus, , Which are exposed to
light oxidation, pesticides, oil products, heavy metals, phenols. Intensive
euthrofication of inland water bodies cause worsening of status of Black and
Azov seas.

By level of efficient of water resources and quality of water
Ukraine, according to UNESCO, takes 95-th position among 122 countries.

The system of state governance in the area of protection of waters

iImmediate reforming towards transfer to integrated management of

water resources. Functions of management in the are of protection, usage and

restoration of waters are allocated between different central executive authorities

that result in their overlapping, different of provisions of
environment protection legislation and inefficient usage of budget funds.
Drinkable water supply of Ukraine almost by 80 per cent by

usage of surface waters. Ecological status of surface water bodies and quality of
water in such bodies are the main factors of sanitary and epidemiological
of population. At the same time most of water bodies by level of
pollution are attributed to those, which are polluted and much polluted.
Underground waters of Ukraine in many regions by their quality do not meet
the regulative to sources of water supply; it is related mainly to
anthropogenic pollution. Status of water supply to rural population is of a peculiar
concern as the centralized water supply only 25 per cent of rural
settlements of Ukraine.

A) usage, B) well-being, C) interpretation, D) organic substances, E)
requirements, F) covers, G) is ensured, H) suitable, 1) requires, J) depletion.

72



4.10. I'pamaTuyHi 3aBAaHHA 10 MOAYJIbHOI KOHTPOJIBHOT POOOTH MOyt 3M -
I110.

Module control work Nel0

[2, c. 51 —55], [3, c. 56 — 65]

I. Grammar Test (The Subjunctive Mood)

Put the right form of the verb in the Subjunctive mood. Revision:

1. The unfortunate pupil wished he (not to forget) to learn the rule. [2, c. 52 —
55], [3, c. 61 — 62].

2. 1 wish | (to have) a season ticket to the Philharmonic next winter. [2, c. 52 —
55], [3, c. 61 — 62].

3. I wish | (to consult) the teacher when | first felt that mathematics was too
difficult for me. [2, c¢. 52 — 55], [3, c. 61 — 62].

4. | love sunny weather. | wish it (to be) warm and fine all the year round. [2,
c. 52 -55], [3, c. 61 - 62].

5. I wish | (not to lend) Nick my watch: he has broken it. [2, c. 52 — 55], [3,
c. 61— 62].

6. | wish you (to send) word as soon as you arrive. [2, c. 52 —55], [3, c. 61 — 62].

7. l'wish I (not to have) to do my homework every day. [2, c. 52 —55], [3, c. 61 —
62].

8. I'wish you (to go) skiing with me yesterday: | had such a good time! [2, ¢. 52 —
55], [3, c. 61 — 62].

9. I 'wish I (to know) Spanish. [2, c. 52 —55], [3, c. 61 — 62].

10.1 wish | (not to drink) so much coffee in the evening: | could not sleep half the
night. [2, c. 52 — 55], [3, c. 61 — 62].

11.1 wish you (to read) more in future. [2, c. 52 — 55], [3, c. 61 — 62].

12.1 wish | never (to suggest) this idea. [2, c. 52 — 55], [3, c. 61 — 62].

13.1 wish | (to be) at yesterday's party: it must have been very merry. [2, c. 52 —
55], [3, c. 61 — 62].

14.1 wish we (to meet) again next summer. [2, c. 52 — 55], [3, c. 61 — 62].

15.Don't you wish you (to see) that performance before? [2, ¢. 52 —55], [3, C. 61 —
62].

16.They wished they (not to see) this horrible scene again. [2, c. 52 — 55], [3,
c.61-62].

17.1 wish | (can) give up smoking. [2, c. 52 — 55], [3, c. 61 — 62].

18.She wishes she (to see) him at yesterday's party. [2, c. 52 —55], [3, ¢. 61 — 62].

19.1 wish | (to pass) my driving test last Monday. [2, ¢. 52 —55], [3, ¢. 61 — 62].
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20.1 wish | (not to forget) my friend's birthday yesterday. [2, c. 52 — 55], [3,

c. 61 -62].

21.The boy is sad. He wishes he (not to break) the window. [2, c. 52 — 55], [3,
c. 61 -62].

22.My aunt wishes she (to stay) at home last weekend. [2, c. 52 — 55], [3, ¢c. 61 —
62].

23.He wishes he (to know) something about cars. [2, ¢. 52 — 55], [3, ¢. 61 — 62].

24.1 wish it (to be) sunny. [2, c. 52 — 55], [3, c. 61 — 62].

25.1 wish it (to be) sunny during our picnic last Saturday. [2, c. 52 — 55], [3,
c. 61— 62].

26.She wishes she (to live) in Kyiv. [2, ¢. 52 — 55], [3, ¢. 61 — 62].

27.My friend wishes he (not to do) that last night. [2, ¢. 52 — 55], [3, c. 61 — 62].

28.1 wish I (to bring) my camera last spring. [2, c. 52 — 55], [3, c. 61 — 62].

29.1 wish I (can) tell the future. [2, c. 52 —55], [3, c. 61 — 62].

30.Do you wish you (to be) in the Guinness Book of Records? [2, c. 52 — 55], [3,
c. 61 -62].

31.Some people wish they (can) appear on a TV game show and become famous.
[2, c. 52 —55], [3, c. 61— 62].

32.She often wishes things (to be) different. [2, c. 52 — 55], [3, c. 61 — 62].

33.1 wish | (to buy) that grey hat instead of this one. It was more expensive, but
the quality was much better. [2, ¢. 52 — 55], [3, c. 61 — 62].

34.1t looks like raining, | wish we (to take) our umbrellas. [2, c. 52 — 55], [3,
c. 61— 62].

35.The child is crying, I wish | (to know) how to calm her. [2, c. 52 — 55], [3,
c. 61 -62].

36.1 wish you (to finish) your work already. We could go for a walk now. [2,
c. 52 -55], [3, c. 61 - 62].

37.1 wish | (to know) it was your favourite writer. | would have bought the book
for you. [2, c. 52 — 55], [3, c. 61 — 62].

38.1 wish I (to know) French. [2, ¢. 52 — 55], [3, c. 61 — 62].

39.She fell and broke her leg. | wish she (to be) more careful. [2, ¢c. 52 — 55], [3,
c. 61— 62].

40.1 wish you (to read) more English books in future. [2, ¢. 52 — 55], [3, c. 61 —
62].

41.1 feel sick. I wish I (not to eat) all the ice cream. [2, ¢. 52 — 55], [3, c. 61 — 62].

42.They need a singer for the choir. | wish | (can) sing. [2, c. 52 —55], [3, ¢. 61 —
62].

43. 1 wish | (to look after) my parrot better. [2, c. 52 — 55], [3, c. 61 — 62].

44.1 can't remember her telephone number. | wish | (can). [2, c. 52 — 55], [3,
c. 61 -62].

45.1 wish 1 (not to lend) him my car: he has broken it. [2, c. 52 — 55], [3, ¢. 61 —
62].
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46.My watch has stopped. | wish | (to have) a better watch. [2, c. 52 — 55], [3,
c. 61 -62].

47.1 feel so tired. I wish I (not to stay up) so late last night. [2, ¢. 52 — 55], [3,
c. 61 -62].

48.My apartment is rather small. I wish | (to have) a bigger one. [2, c. 52 — 55],
[3,c. 61 —-62].

49.1 wish | (not to spend) all my money last night. [2, ¢. 52 — 55], [3, c. 61 — 62].

50.1 wish I (to know) the answer to this question. [2, c. 52 — 55], [3, c. 61 — 62].

51.1 wish you (to phone) me yesterday. [2, c. 52 —55], [3, c. 61 — 62].

52.1 wish I (to know) then what | know now. [2, c. 52 — 55], [3, c. 61 — 62].

53.1 wish you (to see) this film. I am sure you would like it. [2, c. 52 — 55], [3,
c. 61 -62].

54.1 wish you (to come) earlier. You should have gone to the museum together.
[2, c. 52 — 55], [3, c. 61 — 62].

55.1 wish you (to have) time to read this article. Now you would able to answer
all the questions. [2, ¢. 52 — 55], [3, ¢. 61 — 62].

56.1 wish you (to see) my friend. [2, c. 52 — 55], [3, c. 61 — 62].

57.1 wish | (to know) where you are and what you are doing. [2, c. 52 — 55], [3,
c. 61—62].

58.1 wish I (to be) only joking. [2, ¢. 52 — 55], [3, c. 61 — 62].

59.1 wish I (not to tell) you about it. [2, c. 52 — 55], [3, c. 61 — 62].

60.We all wished that we (to stop) there. [2, c. 52 — 55], [3, c. 61 — 62].

[1, c. 102]

I1. Fill the gaps:

Monitoring Land Water

The State Hydrometeorological Service (the Ministry of Emergencies)
monitors hydrochemical state of water 151 water bodies and carries out
hydrobiological at 45 water bodies. The data are collected on 46
parameters, which allow assessment of the chemical composition of water,
biogeneous parameters, presence of suspended and organic
substances, the main pollutants, heavy metals and pesticides. 8 water bodies are
observed for chronic toxicity of water. The indicators of
contamination of surface waters are also determined.

The State Environmental Inspectorate (the Ministry of Environment)

a selective sampling and obtains data on more than 65 parameters
that are measured.
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The State Committee for Water Management monitors rivers, reservoirs,
canals, and pieces of water within multi-purpose water resources
utilization systems, water supply systems, trans-border watercourses and
reservoirs in zones around nuclear power plants. Water quality is monitored using
physical and chemical parameters for 72 reservoirs, 164 rivers, 14 irrigation
systems, 1 firth and 5 multi-purpose channels. In addition, as a part of radioactive
monitoring, water management organizations monitor of radio
nuclides in surface waters.

The Sanitary and Epidemiological Service (the Ministry of Health) carries out
observations over the sources of centralized and decentralized drinking water
supply and recreation sites along and reservoirs.

The enterprises of the State Geological Survey (the Ministry of Environment)
monitor the state of groundwater. In the places of monitoring, the level of
groundwater (occurrence), its natural geochemical composition is assessed. 22
parameters, heavy metals and pesticides concentration are
determined.

The Sanitary and Epidemiological Service (the Ministry of Health) provides

analysis of groundwater intended for drinking

A) irrigation systems, B) rivers, C) consumption, D) including, E) the amount, F)
chemical, G) observations, H) provides, I) particles, J) radioactive.

4.7. 3aBaaHHs 10 iCTIUTY.

1 3aBganHA
Grammar Test

I. Insert the proper form of the verb:

1. He seems (to work) much. [2, c. 38-42], [3, c. 85-100]

2. He is reported (to write) a new novel. [2, c. 38-42], [3, c. 85-100]
3. She ought (to tell) the truth. [2, c. 38-42], [3, c. 85-100]

4. This house seems ( to rebuild) already. [2, c. 38-42], [3, c. 85-100]
5.1 don’t (to understand) this text. [2, c. 38-42], [3, c. 85-100]

6. | happened (to ask) her about you when you came in. [2, c. 38-42], [3, c. 85-
100]

7. He seems (to know) wrong adress. [2, c. 38-42], [3, c. 85-100]

8. If you lent me your bag, | (to go) shopping. [2, c. 38-42], [3, c. 85-100]

9. You could (to ask) me first. [2, c. 38-42], [3, c. 85-100]

10. I am expecting (to give) a pay-rise next month. [2, c. 38-42], [3, c. 85-100]
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11. Where is the girl (to read) the book? [2, ¢.42-47], [ 3, c. 100-113]
12. There (to be) little time left, we took a taxi. [2, ¢.42-47], [ 3, c. 100-113]

13. (To lose) the key, the boy couldn't get into the house. [2, c.42-47], [3,
c. 100-113]

14. Peter left the room (to say) that he was in a hurry. [2, ¢.42-47], [ 3, c. 100-
113]

15. (To think) that he was busy, | decided to call on him later. [2, c.42-47], 3,
c. 100-113]

16. (To graduate) from the university, | decided to return to my home city. [2,
c.42-47], [ 3, c. 100-113]

17. When (to speak) English, pay more attention to the word order. [2, ¢.42-47],
[ 3, c. 100-113]

18. (To run) across the field, | fell and hurt my ankle. [2, c.42-47], [ 3, c. 100-
113]

19. She stood silent, her hands (to press) together. [2, ¢.42-47], [ 3, c. 100-113]

20. The moonlit road was empty, with the cool wind (to blow) in their faces. [2,
c.42-47], [ 3, c. 100-113]

21. He has no right to come bothering you and your father without (to invite).
[2, c.42-47], [ 3, c. 100-113]

22. Tom went on (to whitewash). [2, c. 47-50], [3, c. 113-123]

23. He did not remember (to see) in that room. [2, c. 47-50], [3, c. 113-123]

24. The child deserves (to praise). [2, c. 47-50], [3, c. 113-123]

25) It looks like (to rain). [2, c. 47-50], [3, c. 113-123]

26. | hope you will forgive me (to disturb) you. [2, c. 47-50], [3, c. 113-123]
27. | said something about my clock (to be) slow. [2, c. 47-50], [3, c. 113-123]
28. | do not remember (to hear) the legend before. [2, c. 47-50], [3, c. 113-123]

29. Are you quite sure of those words ( to refer) to my brother? [2, c. 47-50], [3,
c. 113-123]

30. Do not forget (to shut) the windows when you leave home. [2, c. 47-50],
[3, c. 113-123]

31. If you (to go) to Paris you’ll see the Eiffel tower. [2, c. 59-60], [3, c. 55-
60]

32. What (to do) if you (to find) a treasure? [2, c. 59-60], [3, c. 55-60]

33. If | (to know) you are coming I won’t leave the house. [2, ¢. 59-60],
[3, c. 55-60]
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34.1f | (to have) a big house, I ( to invite) friends. [2, c. 59-60], [3, c. 55-60]

35. He (to understand) the message if he knew Spanish. [2, ¢. 59-60], [3, c. 55-
60]

36. If the weather (to be) fine, we will celebrate your birthday outside. [2, c. 59-
60], [3, c. 55-60]

37. The parents (to let) me go to the South if | passed exams well. [2, c. 59-60],
[3, c. 55-60]

38. | (to find) those types of papers if | had a little bit more time. [2, c. 59-60],
[3, c. 55-60]

39. If we (to close) the window yesterday, it would not have been so cold in
here. [2, c. 59-60], [3, c. 55-60]

40. If the lady had not stopped the boy, he (to run) into the van. [2, c. 59-60],
[3, c. 55-60]

41. The dog (not to attack) you if you hadn't teased him. [2, ¢. 59-60], [3, c. 55-
60]

42. If they (to buy) a new tent, they might not have got wet during the night. [2,
c. 59-60], [3, ¢. 55-60]

43. You (not to ask) many questions tomorrow. [2, ¢.32-33], [3, c. 47-55]
44. This book (to look for) everywhere. [2, ¢.32-33], [3, c. 47-55]

45. She (to choose) the best actress of this year. [2, ¢.32-33], [3, c. 47-55]
46. She (to help) with the housework now. [2, ¢.32-33], [3, c. 47-55]

47. The fence (to paint) by the end of next week. [2, ¢.32-33], [3, c. 47-55]
48. They often (to laugh) at. [2, ¢.32-33], [3, c. 47-55]

49. These plants ( to water) before | came. [2, ¢.32-33], [3, c. 47-55]

50. The logs (to cut) too long for our fireplace yesterday. [2, ¢.32-33], [3, c. 47-
55]

2 3aBIaHHI

I1. Translate and put 5 questions to the text.

In a democratic country like Great Britain the press, ideally, has three
political functions: information, discussion and representation. It is supposed to
give the voter reliable and complete information on which to base his judgement,

it should let him know the arguments for and against any policy, and it should
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reflect and give voice to the desires of the people as a whole. Naturally, there is
no censorship in Great Britain, but in 1953 the Press Council was set up. It is not
an official body but it is composed of people nominated by journalists, and it
receives complaints against particular newspapers. It may make reports which
criticize papers, but its reports have no direct effect.

The British press means, primarily, a group of daily and Sunday newspapers
published in London. They are most important and known as national in the sense
of circulating throughout the British Isles. All the national newspapers have their
central offices in London, but those with big circulations also print editions in

Manchester (the second largest press centre in Britain) and Glasgow in Scotland.

3 3aBIaHHI
1. a) Translate the text and entitle it

b) Give a brief summary of the text (not more than 3 sentences)

But the best-known among the British national quality newspapers are as

follows.

“The Times” (1785) is called the paper of the Establishment. Politically it
Is independent, but is generally inclined to be sympathetic to the Conservative
party. It’s not a governmental organ, though very often its leading articles may
be written after private consultation with people in the government. It has a
reputation for extreme caution, though it has always been a symbol of solidity in
Britain. Its reporting is noted for reliability and completeness and especially in
foreign affairs. Its reputation for reflecting or even anticipating government

policy gives it an almost official tone.

“The Guardian” (until 1959 — “Manchester Guardian™) has become a truly
national paper rather than one specially connected with Manchester. In quality,
style and reporting it is nearly equal with “The Times”. In politics it is described
as “radical”. It was favourable to the Liberal party and tends to be rather closer
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in sympathy to the Labour party than to the Conservatives. It has made great
progress during the past years, particularly among intelligent people who find

“The Times” too uncritical of the Establishment.

“The Daily Telegraph” (1855) i1s the quality paper with the largest
circulation (1.2 million compared with “The Times’s” 442 thousand and “The
Guardian’s” 500 thousand). In theory it is independent, but in practice it is an
orthodox Conservative paper and as such caters for the educated and semi-
educated business and professional classes. Being well produced and edited it is
full of various information and belongs to the same class of journalism as “The

Times” and “The Guardian”.

V. Write about “My scientific interests” (15 sentences)
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VYxmamaai: IT'saoa LIO. -x.¢d.H., mouenr, [la6miit O.B. - cT. Bukmamay -
Oupneca, OEKY, 2006. — 58 c. — Auri. MmoBo1O.
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